BT B TS

T Ak IMMUehl TE UIGTUT YRAhT WIe i T hel WIT adl deh 1 @iet

TIASTOT YRR

A 37T
(3WRE 2025 S, Wiwr udiam)

T g oue qutieh: 200

3

. TS YR BN & qId o1, 3T W UNSIUT YRAAHT hi USAte 3Gy kY of foh gEW hig foAT

BUT, WeT a1 TLT T3 TS 1Al U9 37fE 7 e afg T & & 39 6& uiequr giaant § seet
el

IT-UAE W WET LA WX UHETT YRkt 3TsRA A, B, C a1 D ITierfa W ®a | Heos Hifed|

3. 39 Ui % WY H T3 T wiew TR ST ST foree 1 e giie R oiR 5w 7 faw

30 Tleor gicen W 100 weTw (W) f&d R v g R ei ilsht S wwet o fern
B Y FIE § =R FogeR (SW) &3 e €1 g
W T YT Hl g7 o, I 17 IW-T3k W 3Afehd
T TEd &1 A AUl TH ot foh U § sAfues
YR Tl € i SH YRR 1 SifeRd Y Sl AUkl HellaH ol Yodsh YA % ford el Tk € Yo
I R

5. oMUkl 1o G TegRR oter | & U SR W Ao e €1 sw-wes § A e e @
6. |t U % 3k WAA B
7. 399 TEd foh o9 qdterr giaet & fafy= ool & YW SW-UEe W SR TN YE H, AR

9.
10.

(i)

(i)

(i)

TAY THO-TE % Wi Ui SR % SR w® HeR Sw-wE ¥ S €

M9 79 9 T W ST H 9 % 9% a0 T % GHIT W o ST-TAF STEfesh
T | YR ST T Theyor YR o 9wt SIAfT |

F=d FM & ol 7 TaF e g & o ¥ Gord #)

Tord S & fod g

TS YoT-wAl ° IEgaN T fed Y e sw & fer g famr smom

T Y % o SR Sehfeqs S €| SHREAR §N Yokt WeE % ford fed U U e S oW for
9eq 7q fraa fa U oiwl @1 uew-TaeTs 3T % w9 H e S

g I SHIIR Tk ¥ 31k ST @ 7, df 38 Terd ST A SO, =R fE e s d 9w SwW
Tl &, 39y & ford SwdaaER & <€ fean smom

e SHHGaR gR1 g UeT B TET oAl Sl @ el SHieR g S<R TEl fE W ?, 9 39 WA %
fer = < 7@l e smom

& qeh MUl Tg UHEIUT YRedehT e sl T el ST ad ek 7 Qe




1. e ik § GUR o dey , fAfafed werl ™
foram wifsa:

. YR % FAE 3TN &l Giau™ & TI=8 324
% qed ATl & Srefteror, fSeM oiR federor a6
AFR
3Teet SR Hfgdl (MCC) i &I &9 9 @R
T e s wekar, dfe 9w Afdes gAEt
TEROT T GRTEY it €1
e aftwEe IR siifee ¢ (VVPAT) & gui
THEA ! Faie =aEed 3 99 2024 H 1fard
T T o

ST H 9 fohe oM wEt €2

(a) HIA TH (b) FEA

(c) wft (d) =h1E &

2. vRA H FHfY Ffeut & dey § ffafad wedl W
foam ifsa:

. od 99 % T8d, <Iaq 99 g (MSP)
i AT 22 HHaAl % i =gAdH qod hi
TR 2t €, Ford = oft snfer 2
Y&l A gl (DBT) & &d, fohami sl
HY Tehe TR0 oh HIEAH H 3T FETadl &
I S €, fHeR 3SR PM-KISAN 31X
AT =1 g iy Ao €1

S0 e HH-T/A TR ?

(a) Haa 1 (b) Faa II

(c) IR (d AAL AT
3. TeAY ITEl HI gg I & ded § Aifa s &t

T w foar wifsa:

I =9 3zl & fod R-fromfeq wfgafa (NPA)
TRTOl AAfY w1 90 T & sgrene 180 T
FHET
ST Y= & fordl 5 e U e i
Ja-TEieha T o WY Tk HeAH 3T shiee
FHIE' Y& HA
STEAMR YRA 1Y & YT TR faqdreor a1
50% foRi €9 9 TeAd ITH < STIEYE T
o & ford etafeq &

HIo[el geH Td o STH-Forer faenra sreishH
(MSE-CDP) &1 fa&iR &2 35H W& SeHi !
off snfet s

ITYE | F e e Te €2

(a) FaA TH (b) FEA T

(c) Had A (d) Tt =R
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(Magazine Test)

1. In the context of reforms in the electoral process,
consider the following statements:

I. The Election Commission of India is vested
with the power of superintendence, direction,
and control of elections under Article 324 of
the Constitution.

The Model Code of Conduct (MCC) cannot
be enforced legally but guides ethical

IL.

electoral conduct.
II. The Supreme Court made full matching of
Voter Verified Paper Audit Trail (VVPAT)

slips mandatory in 2024.
How many of the above statements are correct?
(b) Only two
(d) None

(a) Only one
(c) All three

2. With reference to agricultural subsidies in India,
consider the following statements:

I. Under output subsidy, the Minimum Support
Price (MSP) guarantees minimum prices for
22 crops, including sugarcane.
Under Direct Benefit Transfer (DBT), income
support is provided to farmers through direct
cash transfer, as in PM-KISAN and
Telangana’s Rythu Bandhu scheme.

II.

Which of the above statement(s) is/are correct?
(b) I only
(d) Neither I nor II

(a) Tonly
(c) BothIandII

3. Consider the NITI Aayog’s recommendations
regarding strengthening medium enterprises:
I. Increasing the NPA classification period for
these enterprises from 90 to 180 days.

II. Launching a ‘Medium Enterprise Credit Card’
with a pre-approved limit of up to I5 crore
for emergency funding.

III. Allocating 50% of government funding
received from the Atmanirbhar Bharat Fund
exclusively for R&D of medium enterprises.
IV. Expanding the existing Micro and Small
Enterprise-Cluster Development Programme

(MSE-CDP) to include medium enterprises.
How many of the above statements are correct?
(b) Only two
(d) All four

(a) Only one
(c) Only three

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
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4. frfafEa s w fa=m wifss:

HIF-1: S-S5 Hod YR 1 0 eh Sl

AR sfeler frorat % fod T wewerqul At wegd

FHIA |

-1 T8 HEr HEweIqU] FHSI SATIR I b ST

FHA HT SIET Iq Il & SR ufad ufvren

ST w6l o T R % Ggferd qsHiaeh Haei bl

Sfedt I 21

ST el & Haw B, Frefafed § 9 wiH-1 v

272

(a) FF-1 R FHA-11 SHI T&T & ao HeH-11,
FHoH-1 i TET A HIA T |

(b) HUA-1 R FYA-11 S Tt €, Fog w11,
FHUF-1 I AT TE BT T |

(c) HUA-1 T R, fohg weM-11 T&T Tl 21

(d) FeA-1 T& Tl €, fohg Fem-11 Tt 2

4. Consider the following statements:

Statement-I: The Iran-Isracl conflict presents a
significant challenge to India’s strategic autonomy
and economic stability.

Statement-I1: This conflict risks disrupting critical
maritime trade routes and complicates India’s
balanced diplomatic ties with both West Asian
powers.

Which of the following is correct in relation to the
above statements?

(a) Both Statement-I and Statement-II are
correct, and Statement-II is the correct
explanation of Statement-I.

(b) Both Statement-I and Statement-II are
correct, but Statement-II is not the correct
explanation of Statement-1.

(c) Statement-I is correct, but Statement-II is not
correct.

(d) Statement-I is not correct, but Statement-II

frrefafad ol W forem #if: is correct,
1. WG H FEA Hfee 2T A (CCTS) F . Consider the following statements:
" 1. Under India’s Carbon Credit Trading Scheme
T A H 3O SR g for & stferd &
EN o = (CCTS), the steel and thermal power sectors
®Y H IMHAE |

2. e SR o6l foeradtad & fod wsteq
frmre, fedifén iR germ (MRV) yonfest
T TR Bl 2 |

are currently mandatorily included.

2. Robust Monitoring, Reporting, and
Verification (MRV) systems are essential for
the credibility of the carbon market.

ITWE § T FH-9/T HoA T 2R ? Which of the above statement(s) is/are correct?
(a) ¥ 1 (b) e 2 (a) 1only (b) 2only

. (c) Both 1 and 2 (d) Neither 1 nor 2
(c) 1 3R 2 Al (d) A1 siRAE 2

. YIRG % =fed TEl & Hey # ffafed g =
fo=m wifs3:

. With reference to prominent locations in India,

consider the following pairs:

Location | State Description
I T feraor I. | Nagaon | Assam Empowerment
; < of women farm-
©| T &EH ENACT 9ferT ers by ENACT
B Afgan foramt Project.
T LRI | II. | Modhera | Gujarat India’s first 24x7
IR oxy TS | WI%d R HYH solar-powered
24x7 W village.
Teferd e | III. | Mana Uttara- Recognized as
. o khand the ‘First Vil-
Lo < % e e lage’ of the
%qurqé & country.
T h AT
IV. | srehesn Ll
s TH, W OSﬁI IV. |[Amar- | Madhya Source of
ST <A kantak Pradesh Narmada, Sone,
S el and Johila rivers
641, wIW T, | 21, gET TS, 13/15, AT9ThE |, wie Fel-45 9 45-A W 47/CC, afefmes 12, B9 TSR, T,
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ISP gl § W fora ot gAfaa €2 How many of the above pairs are correctly
(a) Had Th (b) Feel a1 matched?
(c) Faa = (d) Tt =" (a) Only one (b) Only two

. Tacstt sfeem (fafwemm) sifaf=m (FCRA) & d&d
TR-TRaR Tl (NGOs) % fort 7w frremi & deed
# frfafad gl ) foar wifed:

1. YR TfafaferEt : YRA & HHMER-A

(c) Only three (d) All four

. With reference to the new rules for NGOs under

the Foreign Contribution (Regulation) Act
(FCRA), consider the following pairs:

1. Publication Certification from the

IR & yHvE Activities Registrar of Newspa-
2. WHTR W pa faesht sivRm pers of India
&1 20% 2. Administrative 20% of total foreign
3. SITEF F S-SR : 591 FCRA-USiga expense 11rr.11t COl’ltI'l]?uthIl
3. Sub-granting Permitted to other
NGO %1 &17d of contribution FCRA-registered NGOs
S T H H foper Wl ﬂﬁﬁﬁ%? How many of the above pairs are correctly
(a) oI T (b) oA matched?
(c) Tt = (d) =T ot T (a) Only one (b) Only two

. AI-GEferd @R S| o deY | fefafad e

R fo=mR wifed:

[ 3 SWREIH T efasid’ st e gt § |

1. =Tl 3faRer | (1967) Faraur 3 arel Teel
o1 3Tk siafket fiei 9 g2 fopdt ot atfa & fo
ot &Y ¥ ST A6 7, AR 9 eafq gest
TR ET A A Bl

Il ¥R %1 Jeel fafer-feeam Al o, f58 'MOI-
TD' &l 1 T, el | ardfas g9 32

(c) All three (d) None

. With reference to Al-powered autonomous

satellites, consider the following statements:

I. These satellites possess ‘swarm intelligence.

II. The Outer Space Treaty (1967) holds

launching nations strictly liable for any

damage caused by their space objects,
whether on Earth or in space.

III. India’s first space-based Al lab, called “MOI-

TD,” will demonstrate real-time data

GEEHTT T YS9 H O | processing in orbit.
SYYH A H ¥ -8 G ? Which of the above statement(s) is/are correct?
(a) Fa 1 &I (a) Tand II only
(b) Faet 11 3R 111 (b) II and III only
() el AR (c) Tand III only
(d) 1,11 SR 1 (d) 1, I and 11T
| P e T R AR . Consider the following statements:

HUT-1: I HIoeh Ueh e sAfhed 9, S 7 e
3T Tgaral ¥, Sfceh Toh TER FHTsl gues of 9|
HUA-11: T | "W e Sl F T iR
1857 % TIRIE 1 'IRA 1 YW T G’ o &Y
T fafara w3 el 37! geaeh, ffew wram & faes
STk ATt GoY 1 g9 |

HYUA-111: ST TR H 9+t fégeti & ford afaa
Tra Gy’ a1 FHM0T et qe S-S iem 9
forame 1 TmeA R Sfara dee % foes Wik
w9 9 & TR

Statement-I: Veer Savarkar was a complex
personality, being not only a fierce nationalist but
also a committed social reformer.

Statement-I1: His establishment of the ‘Free India
Society” in London and his book portraying the
1857 revolt as India’s First War of Independence
illustrate his nationalist struggle against British
rule.

Statement-III: He built the ‘Patit Pavan Temple’
in Ratnagiri for all Hindus and actively supported
inter-caste dining and marriage, working against
caste discrimination.

641, wIW T, | 21, gET TS, 13/15, AT9ThE |, e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
ociplcrel  wEst TR, | s e, | feee afe s, -2, A G qE, | ondE uie, fammms | ofaw et
faeeft-110000 | 7 foeett | fafaer omg=w, wmwst | agemn i@, sEOx T, e ¥, wer waw
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ST Ml & Yol H, Frefofad H 8 HiA-ar @i g ?

(a) FF-II R FHA-II IHI TS & aen i,
-1 i AT HW B |

(b) FHUA-II 3R wHeH-111 SHI Tl &, fvg 51 @
A Teh, -1 1 A HIT ¢ |

(c) FHEF-II 3R FHUA-111 H | Hael Tk T&l ¢ a1
e FHYF-1 T AR FA |

(d) 3@ HUA-11, 7 & HUA-11 T2

10. &g Td Fal F (GST) Foedt & Hey # frfafaa
'ﬁ'ﬁm%ﬁlﬂaﬁﬁ'ﬁ:

GO feraor
L | GST erdfieim | GST foari & fed wem
AR TOT STUS o1 T |
(GSTAT)
I | erfegfef STt | T2t A1 ot =1f
(Compensatlon | wyxoqig ¥q @man 7=,
Cess) forerer i sraify et
2026 o &g & T}
L. | g garafam 35 HIS T 3Tfereh TR
el SAIErEl o o gt
B2B 3R B2C oH-37 g
Afar |
IV | wea GST |5 1T Siae-usig
(IGST) AT W T S
3R TE T Tiae- e
FEI
SYH g B 9 forae Tet gafaa € 2
(a) HaA Th (b) HaA &
(c) haa d= (d) |+ft =R

11. TG ST (SC) o hedmn 9§ Heifa fFefataa
Tl | =R s
. 'SH& (NAMASTE) FISHT &1 e Ty 3iR
itk 3% H1 THE & AT BT TR
Fh P IRG B Tsdl HE § g et ordl
I FAR
II. 'S’ (SHRESHTA) ASHI & d&d, el
sTyfaa sifa & B & oY wE & facet
favafoaeml § 3= stegem & fod fomiim
TETI1 UG i Sl 2 |
1. FFTRE SATHHR TReqo7 Aad, 1955 & &,
"STEgTEAr | 3 e arell TR oft fiter

Which of the following is correct in relation to the
above statements?
(a) Both Statement-II and Statement-III are
correct and both explain Statement-1.
(b) Both Statement-II and Statement-III are
correct, but only one explains Statement-1I.
(c) Only one of Statement-II and Statement-III
is correct and explains Statement-1.
(d) Neither Statement-II nor Statement-III is
correct.

10. With reference to the Goods and Services Tax
(GST) system, consider the following pairs:

Concept Description

I. | GST Appellate | First level of appeal
Tribunal for GST disputes.
(GSTAT)

II. | Compensation Levied to compensate
Cess states for revenue

loss, collection period
extended till March
2026.

Mandatory for all
B2B and B2C trans-
actions for businesses
with turnover above

III. | E-invoicing

35 crore.
IV. | Integrated GST | Levied by the Centre
(IGST) on inter-state
supplies, destination-
based tax.

How many of the above pairs are correctly
matched?

(a) Only one
(c) Only three

(b) Only two
(d) All four

11. With reference to the welfare of Scheduled Castes
(SCs), consider the following statements:

I. The NAMASTE scheme aims to eliminate
deaths in sanitation work across India by
mechanizing sewer and septic tank cleaning.

II. Under the SHRESHTA scheme, meritorious
SC students are provided financial assistance
for higher studies in top foreign universities.

III. Under the Protection of Civil Rights Act,
1955, enforcing any disability arising from
“untouchability” is a cognizable and non-

1 AN AT T O IR TR-or STy 2 | compoundable offence.
ITYE H F e e TEl €2 How many of the above statements are correct?
(a) Had TH (b) HaA T (a) Only one (b) Only two
(c) Toft = (d) =S ot 7 (c) All three (d) None
641, wIW T, | 21, gET TS, 13/15, AT9ThE |, wie Fel-45 9 45-A W 47/CC, afefmes 12, B9 TSR, T,
ociplcrel  wEst TR, | s e, | feee afe s, wER-2, A Ak s, | oS wie, fammwew | ofaw st
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12. YR Stafafau & g § fr=fafeaa weml w= foer
Hife:

[. 'R A Al &1 @&F 2027 T 1000 TR a7
R TR aifeshd A § qen I8 gfage
SIRTUT ST (CAMPA) BRI famrdiferd 21

1. FAfE-Hifge Sftas Safafaud hHad &
@& 12, favw &9 ¥ vl & § ef| R e
TOIHT BT T[S, & T 39 qh g hl g
RFHEATI

1. ‘T fof' w=d &5 § daa foouh
(exotle) SR ST | &g oTel GSidqal o
IYANT Tk T 1 Teh qeheileh & |

V. TETTqR goehieh IRl i Safafaear W eEfia
sTfefer #= (WEF) 511 Wenfaa fohan s 21

ST B 9 feha e e €2

(a) HaA TH OIEENE

(c) haa = (d) |l =R

13. Frfafed wael | fo=m i
HYA-1: TR H IEL 91g 1 =T g IR drerar
M B 9 Wl €, S 92 Y9 W g fafidq st
1 gRoms 2
HRA-11: TIHfdeh STal eRTdT gumferdl T STfasha,
TR STet el o1 3Tt TeRaEd 37 gfi T
H o A W &5 T T ST D ST FA
YR &THar bl 1R &9 | arfera foan @1
SUH el & Haw H, frefafad § 9 wi9-91 gl
22
(a) HUA-1 3R FHeH-11 A T & qe HeA-1I,
HF-1 T TE A HIA ¢ |
HYA-1 3R HH-11 I T T, Tohg HeA-1I,
FHF-1 i AT TE BT T |
(c) HoF-1 T &, fohg om-11 Tl =f 7
(d) weA-1 W8T e &, fohg Fem-11 W&I 2|
14, ¥RA H ¢ THER @l & Hed § f=fafaa s
R fo=m Fifea:
I Ee iR AR, ST T § feord U TmeR

(b)

WA

II. 7 7T Tcll o Y YRA H FHof THER Tal hi
TE 80 R |

1. THER ARTEE 1 Hae hoet Yol gferdi o
T AT

IV. 3R Td & WOl H (Demolselle
Cranes)%@ﬁl’ﬂﬁl’ﬂ%l

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

12. With reference to Urban Biodiversity in India,
consider the following statements:
I. The Nagar Van Scheme aims to establish
1000 urban forests and gardens by 2027,
funded by the Compensatory Afforestation
Fund (CAMPA).

II. Target 12 of the Kunming-Montreal Global
Biodiversity Framework focuses on improving
the quality, area, and access to green and blue
spaces, especially in urban areas.

III. The Miyawaki method is a technique for

urban afforestation using only exotic and
fast-growing species.
IV. The Singapore Index is a mandatory global
ranking system for cities based on
biodiversity, administered by the World
Economic Forum (WEF).

How many of the above statements are correct?
(b) Only two
(d) All four

13. Consider the following statements:

(a) Only one
(c) Only three

Statement-I: Incidents of urban flooding in India
are increasing in both frequency and intensity,
largely due to anthropogenic factors.

Statement-II: Encroachment of natural drainage
channels, inadequate maintenance of stormwater
drains, and reduction in green spaces have severely
disrupted the natural capacity of urban areas to
absorb rainwater.

Which of the following is correct in relation to the
above statements?

(a) Both Statement-I and Statement-II are
correct, and Statement-II is the correct
explanation of Statement-I.

(b) Both Statement-I and Statement-II are
correct, but Statement-II is not the correct
explanation of Statement-I.

(c) Statement-I is correct, but Statement-II is not
correct.

(d) Statement-I is not correct, but Statement-II
is correct.

14. With reference to new Ramsar sites in India,
consider the following statements:
I. Khichan and Menar are both newly declared
Ramsar sites located in Rajasthan.
II. With these new sites, the total number of
Ramsar sites in India is 80.
III. The Ramsar Convention relates only to the
conservation of migratory birds.
IV. Menar village is known for migratory
'Demoiselle Cranes' (Kurjan).

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
2ER-2, WA ek Ag, | IMehe wiw, faemrasm ofa¥ i
THET A, S o, e e, e waw
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S H ¥ foRa e et €2
(a) Hod Th OEELE!
(c) haa = (d) |+l =R
15. @ 1975 & TS IR & Ged # f=fafea
FeAl R TaaR Hifee:
I 3§ dfauH o egess 352 % ded Oue
fosie" & TR W =iftr foram T o)
. 39 <RA cihae iR Tog faumawsti &1
TR i o | agRT B a9 T |
[II. I8 9gell 9R o 56 9Nd H 3Tae el o
T AL AT i SO i T8 of |
IV. 429 Geiem 1ffTm, 1976 3 I8 Wraem fowan
for U SATATdeRTeT % S STIERE 20 3R 21
% ed Hifersh TRl =i eifera &l foam s
HHa gl

V. 1975 % SATYTAehTe hi SNOOUT o2l gRI haia
Hfed wt fafad famfer & SR W 1 T
off |

ST H 9 feha e e €2

(a) haaA OEESKIE

(c) Had =R (d) Teft ot

16. R | 9l | Afgenedi it yfter & el |

frfafeaa el W faar sifsa:

[ TRt &wHeE (PC) Hift, iR &g wHee
(SSC) Tanfgfa q A 7 |

11 wfgen TfuehiEl =l o1al 9+t Jaeh yfoerrsti o
SnfHet fapam < &

1. e fren sem famfem & G veelt afgen
SATRRY &1 |

IV. TR 7 < R & AT el § aefemal &
EENEIRES T

ST H 9 feha e e €2

(a) HIA TH (b) FaA T

(c) had A (d) |+ft =R

17. 3aIfeResh Al (EVs) i aieRuita @rTd & ded #

frAfafea ol W fa=ar sifsa:

I 3 9@ SAUEY IcEsH I R T 91Y
ToTerT H YR I

II. 37 9 a9 9 2R 9 o oEE § Afas
HfOTehT TGHYT AT B |

1. s fafor g faform 9 Femee @ = 9 id
T T Yehe BT ¢ |

IV. YR & T o0 Wift ifa @it a=a o
quid: ST & T B |

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

How many of the above statements are correct?
(b) Only two
(d) All four

(a) Only one
(c) Only three

15. With reference to the National Emergency of 1975,
consider the following statements:
I. It was declared under Article 352 of the
Constitution on grounds of “armed rebellion.”
II. During this period, the tenure of the Lok
Sabha and State Assemblies was increased
from five to six years.
III. This was the first time a national emergency
was declared in India due to internal causes.
IV. The 42nd Amendment Act, 1976, provided
that Fundamental Rights under Articles 20
and 21 cannot be suspended during a national
emergency.
V. The 1975 emergency was declared by the
President on the written recommendation of
the Union Cabinet.

How many of the above statements are correct?
(b) Only three
(d) Allfive

(a) Only two
(c) Only four
16. With reference to the role of women in the Indian
Armed Forces, consider the following statements:
I. Permanent Commission (PC) is limited, while
Short Service Commission (SSC) is till
retirement.
II. Women officers are now inducted in all
combat roles.
III. Captain Shiva Chauhan became the first
woman officer deployed in Siachen.
VI. The government has approved admission of
girls to Sainik Schools across the country.

How many of the above statements are correct?
(a) Only One (b) Only Two
(c) Only Three (d) All Four

17. With reference to the environmental costs of
electric vehicles (EVs), consider the following
statements:

I. These vehicles improve local air quality by
having zero tailpipe emissions.

II. Their heavy weight leads to more particulate

pollution from tyre and brake wear.

III. Mining for lithium and cobalt for batteries
poses a risk of water pollution.

IV. India’s National Battery Swapping Policy is
fully implemented in all states.

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
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S H ¥ foRa e et €2

How many of the above statements are correct?

(a) A TH (b) FaA A (a) Only one (b) Only two
(c) aad= (d) Tf =R (c) Only three (d) All four
18. TR Hae % ge § frefafed HeE W faER 18. With reference to Sagarmatha Dialogue, consider
N the following statements:
L ) o T 3 e e L Sagarrr'la'tk'la Dialogue is a biennial global
. forum initiated by the Government of Nepal.
5 Al . II. Its main focus is on biodiversity conservation
Il &9% g’@q TR Srefaferar TaT ST and sustainable tourism.
AT BT B ) ) III. India proposed a five-point action plan for
[II. YRA 7 e qRiefaet & W0 gg 99- the conservation of mountain ecology.
AT e ST S Which of the above statements is/are correct?
ST HeH H 9 HHA-T/A TR 2 (a) Tonly (b) Il and III only
(a) Had I (b) e 11 3R 111 (c) Tand III only (d) 1,1 and III
(c) e I R III (d) I, IT SR 111 19: With reference to Sant Kabir Das, consider the
19. §d FeR I % Hed H FeAfared i W fa=m following pairs:
EAIEEE Concept Description
ST FerrT I. | Bijak A principal
I : compilation of Kabir’s
- | SR HER aﬁ ettt =1 TH teachings
99 Heher | II. | Nirgun Bhakti Denunciation of caste
1L | fjor wifs siferd . w3 discrimination and
FHHAS BT T | rituals
e 5 e . 3 el = fgs 1. | Sadhukkadi Mixture of Sanskrit
- language and Persian

Sw g H 4§ foran @&t gAfea €2

How many of the above pairs are correctly

(a) TR (b) FF@ matched?
(c) Tl i (d) = T T (2) Only one (b) Only two
y y
20. s A o o & ded # ffafaa i (¢) All three (d) None
R fomm i 20. With reference to regulation of online gaming,
e U — consider the following pairs:
N . - Provision | Description
L IpMLA | siies Afdn wwewid =i T I pMLA Des pt ” -
Y v . . esignates online gaming
N e % w A platforms as ‘Self-Regulatory
e o € Body’
IL V1T frm, | wrewdt % fad Kyce iR II. |IT Rules, | Mandates KYC and suspi-
2021 dfqy w9-<7 faifén sifemd 2021 cious transaction reporting
HAE by platforms
111 o S | aredfers ¥ 9 g TR III. | Loot Box | A dark pattern encouraging
Ty F e wm Al purchase of random rewards
N with real money
IV. | FATF Issues recommendations on
IV. | FATF fefsea 9ufa
RESE ) a \_ﬂ:é o money laundering risks from
9T Sl W R < g | virtual digital assets
Suh gl # 9 fera @l gaferd €2 How many of the above pairs are correctly matched?
(a) Had TH (b) HaA T (a) Only one (b) Only two
(c) haa d= (d) |+ft =R (c) Only three (d) All four
641, wIW T, | 21, gET TS, 13/15, AT9ThE |, e HeT-45 F 45-A W 47/CC, afefmes 12, B9 TSR, T,
ociplcrel  wEst TR, | s e, | feee afe s, wER-2, A Ak s, | oS wie, fammwew | ofaw st
foeett-110000 | € et | fofaw omew, wavw | aga s, sEOqw unt, wET &R, WA wRw
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21. foa 41 & A9 H gU 'S w1 gea seva e | 21 What was the main objective of the ‘Ulgulan’ led
o7 by Birsa Munda?
' (a) Only religious and social reform
@) 4 ¥ . lv (b) Overthrow British rule and establish ‘Munda
(b) fofewr wmem &l T w2 'geT TS i Raj’
kAT (c) Expel Christian missionaries from the region
(c) ars fawmfal o1 & 9 frsmifaa s (d) Only struggle against moneylenders and
(d) ee g ST SR & fores Hemd | landlords
2 e f = 3 P . | 22. With reference to trust-based regulation, consider
22. i & i Fo the following statements:
R fo=m wifs: _
Statement-I: The Jan Vishwas Act, 2023,
HA-1: 5 favams sIfufad, 2023, Al Searerl decriminalizes minor violations and improves
1 STTH-Th T G H FHR FL S | governance.
- 11: T8 AR S Eh"lfh ' Statement-11: The Act replaces imprisonment with
C N N monetary penalties in several central laws.
forita <€ 9 gfaeetyd war e |
L ) Which of the following is correct in relation to the
?Clé?ﬁ FHel o Go ¥, Freafafed § 9 sE-w &l above statements?
/ a) Both Statement-I and Statement-II are
g2 (a) Both S I and S 11
(a) HUA-I 3R FUA-11 OFF T&T T 9 HAA-11 correct, and Statement-II is the correct
e 3 ' explanation of Statement-1.
. o (b) Both Statement-I and Statement-II are
(b) I SR -1 AT % fehg o1, correct, but Statement-II is not the correct
-1 i ST el HI T | explanation of Statement-I.
(c) Ho-1 T %, fohg Fem-11 T =T 71 (c) Statement-I is correct, but Statement-II is not
(d) Her-1 9 7 R, foing o119t B | correct.
. . ) (d) Statement-I is not correct, but Statement-II
23. WHO %t aftae 7ol §fY o e § frfafaa is correct.
el R R : 23 . With reference to the WHO Global Pandemic
I I Y T ATeHs Tgd S ol-HremehLol Treaty, consider the following statements:
(PABS) JUTTelt Temfya et 21 I. The treaty establishes a Pathogen Access and
I == 9 WHO S 9= 39 R dfeersd 9 Benefit-Sharing (PABS) system.
' 5 : Fﬂ?lih_{a’l —— e II. The treaty empowers WHO to impose
lockdowns and vaccination mandates on
ITYE FHUA | T HH-9/H T ? member countries.
(a) waal (b) Fae 11 Which of the above statement(s) is/are correct?
(c) 13RI EH (d) AWML AT (a) Tonly (b) IIonly
. . Both I and II d) Neither I 1I
4. > (GDP) % 8 G ¥ ge (c) BothTan (d) Neither I nor
Y Pt o e e - 24. With reference to the revision of base year for
. . . Gross Domestic Product (GDP), consider the
I 7 HEe AR Sreferree § gu Seereh following statements:
REHT ohl SRR &1 | T | I. This revision will better reflect structural
I T SEen &1 T SRl STIEhifa s i changes in the Indian economy.
IR T H S | II. The new series will be calculated using the
double deflation method.
1. eieA o ford Ut wifegent swEte
= III. The National Statistical Office (NSO) is
(NSO) STt €1 responsible for this revision.
Ut & fohe o W€ ? How many of the above statements are correct?
(a) HaA TH (b) FaA A (a) Only one (b) Only two
(c) Tft = (d) e ot T (c) All three (d) None
641, wIW T, | 21, gET TS, 13/15, AT9ThE |, e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
ociplcrel  wEst TR, | s e, | feee afe s, wER-2, A Ak s, | oS wie, fammwew | ofaw st
foeett-110000 | € et | fofaw omew, wavw | aga s, sEOqw nt, FETS &R, WA wRw
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25. =ifa s SR Tert goere & dey # frfafea
FHUA T faaR Fifa:
1. fifq i @ 'S e g Sy R T
o Tk U ol S BT
1. sTeRiefl f7em +hT (ADP) Fael Afaeust
TEETR 1 T 3SR ¢ |
1. fifq A& T ol I &g 6T HeH
(SITs) Tenfad e H HeTIdl il ¢ |
IV. SHh! SEt 9RUS T STEASTAT WRA o GeAHAT
BRI o &9 9 1 Sl 7|
ST H 9 fohed oM wet €2
(a) e TH
OREENE
(c) oA A
(d) =+ IR
26. GEIR YRA & ged ¥ frefafed sedl | fo=r
EAIEEH
. 8 & IR < % | W |en i g, S
=0 A €9 ¥ HEwIqol oA |
[I. FTAEH Heal-Aigd IR 1 @ed NER &1
THE o WIE 9 SE-ge T 9 S |
[II. dem-fearsd (PM-DeVINE) I fovm &9
Y 39 &7 § geh IR qomnt o W FHisa
gl
ST H & fora wem W €2
(a) HIA TH
(b) FHaA A
(c) G+t =
(d) =rE off S
27. B U o el | frefafad wemi w foer wifsa:
[ 5 SUHIRGT TR0 TR0 (CCPA) SUHIRBT
e stfufEd, 2019 & ded S Ued Wl
frafora s 21
. ek e’ vIeg 1 FANT SUeReT HmHe faam
B STfad AR Yensdt < aviF &g foRan T
o
IYYH FHUE | ¥ H-A/E G ?
(a) Haa I
(b) Had II
(c) 13RI A
(d) FdML AT

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

25. With reference to NITI Aayog and cooperative
federalism, consider the following statements:

I. NITI Aayog’s ‘“Team India Hub’ acts as a
bridge between the Centre and States.

II. The Aspirational Districts Programme (ADP)

is an example only of competitive federalism.

III. NITI Aayog assists states in setting up State
Institutions for Transformation (SITs).

IV. Its Governing Council is chaired by the Prime
Minister of India annually.

How many of the above statements are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four

26. With reference to Northeast India, consider the
following statements:
I. This region shares borders with four
countries, making it strategically important.
II. The Kaladan Multi-Modal Project aims to
connect NER with Southeast Asia via sea.
III. PM-DevINE scheme is exclusively focused
on road and highway development in the
region.
How many of the above statements are correct?
(a) Only one
(b) Only two
(c) All three
(d) None
27. With reference to dark patterns, consider the
following statements:
I. Central Consumer Protection Authority

(CCPA) regulates dark patterns under the
Consumer Protection Act, 2019.

II. The term ‘dark pattern’ was coined by the
Department of Consumer Affairs to describe
unfair trade practices.

Which of the above statement(s) is/are correct?
(a) Tonly
(b) II only
(c) BothTandII
(d) Neither I nor II

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
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28. YR 99 UReg (PCI) & gy § fr=fafaa et
R faar Fifsa:
. SHh! TYAT Yo T ST &t Fawien &
STYR T T TS off |
1. I U Hifafies, -~ 3R @ e
% & § 1 B
1. $9eh I FHER-TEA A1 GhRI 9 S[HAT T
EaREAS
ST HUA | -9/ T/ ?
(a) Faal (b) e I 3R 11
(c) ae II R 11 (d) I, 11 SR 111
29. YRA & Sfehm, faita Jar IR @ (BFSI) &9 &
e # frfafaa sweml R faar st
. 9N % FHURS S0 R Tohal =X 3]
T AT 18-20% R |
II. WRA ® <o T 9g Sf¥es okl 1 o o

HIHT ST T

. BFSI &% =1 faf+=mes 2f=n RBI, SEBI iR
IRDAI R TshiFd T |

Iv. f-50 1 3@ # BFSI &5 &1 aneH
IeeRE ® F FH g3 B

Sl H ¥ foRa e Tt €2

(a) e TH (b) heret <

(c) Haa = (d) =i ot T

30. OPEC+ 3R 3fYas da1 aiR & dey § f=fafaa

T | HIF-|1 HYH WE TR ?

(a) OPEC+ ol T9AT a9 2016 H THR! ot It
ITUTCH i Gg T Gehrarall i &g g8 o |

(b) TS RS ! 'TEeT SeueR’ HAT W €, S
IR fe=ieRt o1 & & T3 Scare wmmEifed
FETI

(c) OPEC 2R OPEC+ <% foetnt afyas 9@
IeIET T T 60% Tife ohea €

(d) afvas da &t 9 H | & RO, OPEC+ A
IcTeA H 3R 21feh Hrdt A @ fvia fern
gl

31. YRA i FrEeR & G & Hed # f=fafaa

FeAl R faar Fifee:

. TS Gge’ GRe ga-ade (NCSC) T
AT & T FHE HL R |

I[I. 9RA i T TEeR & ifd @l Afaq ar
oY 2013 § S foam o e

[ 9RdAE HHX  Suderreid gfafsean g
(CERT-In) T wifaferes e €1

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

28. With reference to the Press Council of India (PCI),
consider the following statements:

I. It was established based on the
recommendations of the First Press
Commission.

II. It functions as a statutory, quasi-judicial, and
autonomous body.
II. It has the power to impose fines on
newspapers or journalists.

Which of the above statement(s) is/are correct?
(b) IandII only
(d) 1,11 andIII

(a) Tonly
(c) I and III only
29. With reference to India’s Banking, Financial
Services and Insurance (BFSI) sector, consider the
following statements:
I. India’s corporate bond market is about 18—
20% of GDP.
II. Insurance penetration in India is significantly
higher than global standards.
III. The regulatory framework of the BFSI sector
is integrated by RBI, SEBI, and IRDAL
IV. The contribution of BFSI to Nifty-50 earnings
has decreased significantly.
How many of the above statements are correct?
(b) Only two
(d) None
30. With reference to OPEC+ and the global oil market,
which of the following statements is NOT correct?

(a) OPEC+ was established in 2016 to counter
the rise of US shale oil production.

(a) Only one
(c) Only three

(b) Saudi Arabia is considered the ‘swing
producer,” adjusting output to defend market
share.

(¢) OPEC and OPEC+ countries together control
about 60% of global oil production.

(d) Due to sluggish global oil demand, OPEC+
has decided to make further output cuts.

31. Withreference to India’s cyber security architecture,
consider the following statements:
I. The National Cyber Security Coordinator
(NCSC) functions under the Prime Minister’s
Office.
II. India’s National Cyber Security Policy was
last issued in 2013.
III. Computer Emergency Response Team — India
(CERT-In) is a statutory body.

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
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IV. T Hewyol gl STaEtal W %y
(NCIIPC) aet fasit &= & Sfadt @i =t
TRET FHLAT &

I'V. National Critical Information Infrastructure
Protection Centre (NCIIPC) safeguards only
private sector infrastructure.

How many of the above statements are correct?

S H ¥ fere e TRt €2 @ Ol ) Ouly ¢
a) Only one nly two
(a) FeFeT T (b) e () Only three (d) Al four
(c) e d= (d) &t =R . . .
. . L 32. With reference to plastic waste management in
32. A ¥ et Sy waie < we # frfafer India, consider the following statements:
el T o Hifsa:

I. Under the Plastic Waste Management Rules,
single-use plastic items with low utility have
been banned.

[ s ufire yeud f=mi & ded, &
SR el Tehel-SUART TAleeh aegaii &l

gfqsitira foram T 21 II. The principle of Extended Producer
1. forearfiq fomfar Sweerfae (EPR) 1 foid Responsibility (EPR) applies only to brand

heel SIS o TS Hifershi T e A g ¥ | OWRETS.

. . 1 i 9
S For B QB T 39 V\Zh)lc? oflthe above statemen(tt(;) 1ISI/arelcorrect
a) Ton on
(a) shaa [ (b) Hae I Y Y
. (c) BothTandII (d) Neither I nor II

(c) IR (d AAL AT

. . 33. With reference to the National Green Tribunal
33. T | o1 (NGT) % Hef # flefrere (NGT), consider the following statements:

el o forem = : I. Itis a statutory body established in 2010 for

L ¥ 3 2010 H TNfuq U wifatees e 8, i adjudicating environmental matters.

TRl Are 1 F9erT s 2 II. Itis fully bound by the procedure prescribed

II. I e Yishan Ffedn, 1908 & deq fifa under the Code of Civil Procedure, 1908.
eIk Tﬁa: AT III. Its decisions are binding, and it has the power
. <% o s 2 € iR 98 Ted 4 to grant relief and compensation.

HaATEST Y| T HI 9D AT | Which of the above statement(s) is/are correct?
S herl § ¥ - T (a) I'and II only (b) I and III only
() 1 SR (b) et 11 3R 111 (c) I'and IIT only (d) L IIandIII
(c) Faal SR @ L1 AR 34. With reference to Environmental Governance in

. A T —p— India, consider the following pairs:
R TR Institution Function
I. | National Green | Quasi-judicial body
faiall T Tribunal (NGT) | for environmental
L | o< gfa ey faae & o disputes
AT (NGT) | 31 -=nfes ferm | II. | Forest Advisory|Recommend
Committee (FCA) | diversion of forest
L |smuemesr =99 4fd & 9feds &g land
Gfafd (FCA) TR FTAT | III. | National Board for | Final approval for
L | gt o=rsite | Sefara &5 afEismst Wildlife (NBWL) | projects in protected
€ (NBWL) | =t 3ifaqg Hed <1 areas
V. | ¥ T THATT G ST IV. | Central Pollution | Issue Environmental
S (EIA) sferge <Td Control Board | Impact Asses§ment
(CPCB) S (CPCB) (EIA) notifications
How many of the above pairs are correctly
ST g B 9 fopae Ot gafaa € 2 matched?
(a) HaA TH (b) FEA A (a) Only one (b) Only two
(c) haa d= (d) |+ft =R (c) Only three (d) All four
641, wIW T, | 21, gET TS, 13/15, AT9ThE |, wie Fel-45 9 45-A W 47/CC, afefmes 12, B9 TSR, T,
fuciplceel  wEst TR, | we an, | feee ot s, | ewewer, ¥ Stw G, | omee wien, e | o st
faeeti-110000 | 7 fooett | fofae omew, wovw [ agew i@, sEOT i, e %eR, mer waw
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35. 219 TSt H €@ T2 (UN) & deof # fr=fafed
FeAl R fa=R Hifee:
. e uRue &1 ofdl wife Toehrely gemt |
FHATE 1 STFER ST A & |
1. fava @ wEwA (WEP) @rE gRen gifea
Y A THHT TG T ¢ |
1. o8 ¥ nfafafeel & g aret Fed Iy |
o stfamd s § 1
Iv. Fare s foam Sg faftelea @< @1 a9
TG!Sl T G5g FRAT R |
V. 9Rd 3R SISiie adae o $Heh! GRev uikeg &
TR Tew T
ST H 9 fohe oM wet €2
(a) Hod Th (b) A A
(c) had A (d) had =R
36. WA @t fagel AResdr (OCI) Al & deyd |
ffafed ol W fouR Sifva:
[. I8 HISURS! hl SSHA THITLh-FowT el
o gfers fedifén & g2 g &t 2
. I8 HISURI ol FAGH HT SR Haeneh o]
RO T3 Higd ToHITdh AMHR TS !
7
ST HUA | -9/ T/ ?
(a) shaa I (b) e 11
(c) IR (d AAL AL
37. SAfyeRTieR TirasTaar Sifif=m (OSA), 1923 & dest
T frfafea ®eMl W fouR Sifva:
1. I8 Affom hae TRt AftreRiEl W g ang
BId1 €, |1 TehT T & |
1. SHH J&A 3¢ SIH! IR Hosiiel Yo o

ISR TSROl I Y1 € |

[l 0 5 & <8d, YT S&aas ol SR
YA Teh ST ST 2 |

STIH A § W HH-/E TR ?

(a) Fae AR (b) Hee 11 R 111

(c) Faa I AR I (d) 1, I 3R 111

38. ifiTeh TEMAr 1 feen # R #1 wifg & dedf |
freafafed wemi R fa=am wifsa:

[ T8 wfe oed sAfufm, 2023, eas o
Tfgerell € Teh-TaeTs STRETU Sl HTaE il
7

1. 3= foen 4 Sefrdi &1 Gohet THiwT T
(GER) TEehi =i o | 1 21

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

35. With reference to the United Nations (UN) in the
21st century, consider the following statements:
I. The veto power of the Security Council often
obstructs action in contemporary conflicts.
II. The World Food Programme (WFP) is its key
agency for ensuring food security.
III. It mandates reporting of carbon emissions
from military activities.
IV. Therise of minilateral forums such as QUAD
and BRICS strengthens its legitimacy.
V. India and Brazil are currently its permanent
Security Council members.

How many of the above statements are correct?
(b) Only two
(d) Only four

(a) Only one
(c) Only three

36. Withreference to the Overseas Citizenship of India
(OCI) scheme, consider the following statements:
I. It provides cardholders with lifelong
multiple-entry visa and exemption from

police reporting.
II. It grants cardholders political rights,
including voting and holding constitutional

office.

Which of the above statement(s) is/are correct?
(b) M only
(d) Neither I nor II

(a) Tonly
(c) Both I and II

37. With reference to the Official Secrets Act (OSA),
1923, consider the following statements:
1. This Act applies only to government officials,
not to ordinary citizens.

II. Its main objective is to prevent espionage and
unauthorized disclosure of sensitive
information.

III. Under Section 5, unauthorized disclosure of
secret documents is a punishable offence.

Which of the above statement(s) is/are correct?
(a) I'and II only (b) I and III only
(c) Tand III only (d) I, I and III

38. With reference to India’s progress towards gender
equality, consider the following statements:
I. The Nari Shakti Vandan Act, 2023, provides
one-third reservation for women in Lok
Sabha.
II. Gross Enrolment Ratio (GER) of girls in
higher education is higher than that of boys.

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
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M1 R =T A1g Geg 3199 (MMR) S 9fd Th III. India’s Maternal Mortality Ratio (MMR) has
@ S S W 100 | FH & T . zroppfd ]lielt())w 1(;0 per 1}5)0,909 11\{6 b1;ths.
f - - . Female Labour Force Participation Rate
V. ?W ‘éﬂé%\a (LFPR) &t (LFPR) has now surpassed the global
SISEISISIEES ' average.
ST H 9 fohad sed wET €2 How many of the above statements are correct?
(a) HadA TH (a) Only one
(b) Had o (b) Only two
(c) aa T (c) Only three
(d) All four
(d) g+t =R
o feord e Fors 39. With reference to the Reserve Bank of India (RBI)
39. g T (RBI) i 2024-25 % Annual Report 2024-25, consider the following
wfefed e W foem s % information:
L greafes GDP gfg (fot @ 7.2% . Real GDP growth (FY : 7.2%
¥ 2025) 2025)
II. Headline Inflation (FY : 4.5%
II. . )
Teamred gaewita (fod @ 4.5% 2025)
arf 2025) II. Surplus transfer to %1.76 lakh
UL wer =1 #hew . .76 @@ government (FY 2024) crore
oo (fod ad 2024) FUS How many of the above entries are correctly
. . o . tChed‘7
ST o H G feherlt fvhe T gafer ¥ 2 ma
b a (a) Only one (b) Only two
@ mﬂﬁii Eﬁqj ®) ﬁé ;E'iﬁ' - (c) All three (d) None
d
© o @ ) 40. With reference to the recently unrest-hit New
40. TTAL H 7IfC WWW@:{W%W Caledonia, which one of the following is the
¥ frefafed § 9 #H-91 T T faerm @2 correct description?
(a) ¥ FeAifes HEMNR &1 U 9y 29 T e (a) Itis asovereign island nation in the Atlantic
e e A & — Ocean where a recent military coup took
L g place.
(b) ¥ =feror- E. TSR H e T A R, S (b) It is a region in the southwestern Pacific
3T Tehet YR & ford < e 1 known for its nickel reserves.
(c) I Tk e amr & €, s siteeferans (c) Itis an Australian external territory seeking
e qfH & T THIHT T | T I | integration with the Australian mainland.
(d) 7& T R w9 9 fo Froee 2 AR (d) It is a strategically located archipelago
e & & e i f’% recently granted independence from the
& S ! United Kingdom.
41. frefafed werl W fomm it 41. Consider the following statements:
- 1: Toree Tateron fear 2025 H aif¥eres & ' Statement-I: World Environment Day 2025
REISIE Wﬁwgﬂxw-qﬁﬁm‘ Y hfed focused global attention on ‘Land Restoration,
e Desertification, and Drought Resilience’.
; > 3 5 Statement-I1: The event was hosted by Saudi
_'H' R b o ) FTATIHITE, Arabia, which itself faces serious desertification
1 o RN B I AR b % BT & challenges and supports global action on this
3R 39 fawa W Sfter Hiars 1 THeE H B 1 theme.
HAT-II1: 39 o8 1 Ig TS AEEIARIT § Statement-III: This year’s event was aligned with
ﬁﬁ%ﬂ‘ﬁﬂ“ﬁ?ﬁ‘ 5z ARTEE (UNCCD) 1 304 gle 30‘? arini(\:/erssrtyDof trltl?i Utr}iteleII:II?jté(gl)s
- . : onvention to Combat Desertification ,
i & T o, o & F R making the issue of land degradation more
W FITFiﬁTEH CEll ﬁ—t’:ﬂ | relevant.

641, wIW T, | 21, gET TS, 13/15, AT9ThE |, e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
ociplcrel  wEst TR, | s e, | feee afe s, -2, A G qE, | ondE uie, fammms | ofaw et
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272

(a) FUA-I R FHUF-111 A1 T&T & qe0 A,
-1 i AT FW B |

(b) FHUA-II 3R wHeH-111 SHI Tl &, fvg 51 @
el Teh, -1 hi A AT T |

(c) HUA-II R F-111 H H ool Tk Tl ¢ a
€ HYH-] i A FAT L

(d) 3@ HA-11, 7 & HYA-11 T2

42. YIRA i IR & G H feAfaf@ad so |
foar =ifs™:
. XA A S o 1 Bige fovd o) =il ged

Tt STefeATET HT T W A 7 |
1. e 3afsy fafmior AR Fan &= 1 g2 da gfs
J U@ gl
III. 4 Wf® FHAT (PPP) o R W, vRA fowa
I A o TSt stefeaTen §
UG o H ARG/ e R 2
(a) Haa 1 AR (b) Fad I 3R 111
(c) a1 AR 11 (d) I, II 3R 111
43. wErE % fad ddufie geen U & oo #
frrefafea 3= = foer #ifs:
U= faawor
L st eggst |wmm o oftwed
(ADCs) ! T&YAT FHEAT|
Il | egeag 240 | womom fopem wRwei =i
formedt wifat wem 3
UL | LAHDC fteel § wfgensii o foa
e, Toh-TiaTg ey |
1997
ST g 8 ¥ fora et gAfaa €72
(a) HIA TH (b) FEA
(c) =eft (d) =rE oft &I

44. viga Teay & oo # frAfafad § @ #i9-91 wed

TR R ?

(a) TS TSER o JFH WHSA & G ATH
TR Haie 9|

(b) 139 TSI % AT AR Ul | UEd WHsT H
3 e e

(c) ¥ g H fhen forg A6 AReET g1 wigd &
TR H o o)

(d) T g E 14 |t T TSl b1 wmed e
&9 H o @I

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

Which of the following is correct in relation to the
above statements?
(a) Both Statement-II and Statement-III are
correct and both explain Statement-1.
(b) Both Statement-II and Statement-III are
correct, but only one explains Statement-I.
(c) Only one of Statement-II and Statement-III
is correct and it explains Statement-1.
(d) Neither Statement-II nor Statement-III is
correct.
42. With reference to the Indian economy, consider
the following statements:

I. India has surpassed Germany to become the
world’s fourth-largest economy.

II. This achievement is driven by rapid growth
in manufacturing and services sectors.

III. On a Purchasing Power Parity (PPP) basis,
India is the world’s third-largest economy.
Which of the above statement(s) is/are correct?
(a) T'and II only (b) I and III only
(c) I'and III only (d) L IIandIII

43. With reference to constitutional safeguards for
Ladakh, consider the following pairs:

Provision Description
1. | Sixth Schedule Establishment of
Autonomous District
Councils (ADCs)

II. | Article 240 Granting legislative
powers to
Autonomous District

Councils

III. | LAHDC Act,
1997

One-third reservation
for
councils

women 1in

How many of the above pairs are correctly
matched?

(a) Only one (b) Only two

(c) All three (d) None

44. With reference to the Pandya dynasty, which of
the following statements is NOT correct?

(a) The Pandya dynasty had extensive trade
relations with the Roman Empire.

(b) Marco Polo, the 13th-century traveler, visited
the Pandya kingdom.

(c) The recently discovered Shiva temple was
built during the reign of Maravarman
Sundara Pandya.

(d) The Pandyas ruled continuously from the
Sangam era to the 14th century.

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
2ER-2, WA ek Ag, | IMehe wiw, faemrasm ofa¥ i
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45, XA H Feien HuR Hrenfient & e § frefafea
= fa=m wifsa:
I. U s@ied fae 1 @& 50-1000 FHfee &
et Faien HeX fashfad FE T |
II. Faied Feit faaor (QKD) Faied Aifh |
STefia Uk gefara wew fafa 21
I 9Rd A 8T &1 wgell o) Whi-¥09 F&ied Har
T TRTTTYesh JeeH e T |
ST B & fha em e €2
(a) HaA TH OIEENE
(c) weft = (d) g ot &I
46. TfqSHfeT 3R TR S9mTd & He # frefafaa
FHeFl W faar Hifsar:
. ufronfes, AU o e Oea famr S

iyt H e afedH 2

II. omreh 1 fagia weafoa & © fo eifSia
LIV ST UGt ot favraa o e €1

Il BT % 9 5 =gl & el § Tfysmfes meam
H 3fid WeTsiierdr o1 demfa =i w1

V. ufasAfes aftedq sad uedl § 3@ W €
Siqsit ® =g ufteres =l it

ST He B Y HHA-H WL ?

(a) Haa 1 AR (b) Faa 11 3R IV

() FaAL IR (d) L II, I 3R IV
47. frefafed g ® fa=r wifs:

= v yfaurl gor
L | Friffeer welfithe-25 | wra oiK d@miiferan
I | o IRA 7R gEMfem
(PASSEX)-25
L | gt fapor-X1X IRA 3R a1
IV. | qretmer-25 qRd, WH @R
e
S e § ¥ ferat i et gafera & 2
(a) o TH (b) ea &
(c) haa = (d) |+l =R

48. Trsirerett gifen & de # fefafed swemi ® faam
EAIERE
HYUA-1: TRASEH BIET AR IRA &l Th THE
TSI TAT HEHTA 1 Hfaffera a1 g1
HIA-11: 3H T H I Gegie iR difersr fFd g
siromR <faror-qd wfvrns wesfa 9 ey g €1
HUA-111: el T qre Hie i AR gerarer emenfa
Teh LTl SfieH Seft 1 Hehd A § |

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

45. With reference to quantum communication
technology in India, consider the following:

I. The National Quantum Mission aims to
develop intermediate quantum computers
with 50-1000 qubits.

II. Quantum Key Distribution (QKD) is a secure
communication method based on quantum
mechanics.

III. India has recently successfully demonstrated
free-space quantum communication for the
first time.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None
46. With reference to epigenetics and Lamarckian
inheritance, consider the following statements:

I. Epigenetics is the heritable change in gene
expression without alteration of DNA
sequence.

II. Lamarck’s theory proposes that acquired
traits are inherited by the next generation.

III. Recent research has demonstrated epigenetic
inheritance of cold tolerance in rice plants.

IV. Epigenetic changes are observed only in
plants and not in animals.
Which of the above statements are correct?
(a) Tand II only (b) III'and IV Only
(c) L 1 and III only (d) LII, 1T and IV

47. Consider the following information:

Military Exercise | Participating
Countries
I. | Nomadic India and Mongolia
Elephant-25
II. | PASSEX-25 India and Indonesia
III. | Surya Kiran-XIX | India and Nepal
IV. | Malabar-25 India, Japan, and
Australia

How many of the above entries are correctly
matched?

(a) Only one (b) Only two

(c) Only three (d) All four

48. With reference to Daojali Hading, consider the
following statements:

Statement-I: Daojali Hading represents a major
Neolithic culture of Northeast India.

Statement-II: The pottery and polished tools
found at this site indicate links with Southeast
Asian cultures.

Statement-III: The evidence from this site
indicates a settled lifestyle based on agriculture
and animal husbandry.

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
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ST HeAl & Hay H, Frefated § 9 wH-w wd
772
(a) FUE-11 SR FHoR-111 S W& & d= I,
-1 1 AT HLA B |
(b) FHUA-II 3R wHeH-111 SHI Tl &, fvg 51 @
e Teh, -1 hi AT FIAT T |
(c) THUA-11 3R HeH-111 H | Sheret T &t & e
o HYA-1 h A HAT |
(d) 3@ HA-11, 7 & HYA-11 T2
49, 22 3w T (10T) & ded # fr=fafea wemi
R fo=mR wifed:
. 9% 9 iR FAfRfod! g sifas Sushion &1
Teh TR ST H2a |
. R R4 | 396 ST A Jaeud 3R
Foll o1 == o ford foran Sman €1
[II. 9Ra @1 fefSea safwTa g1 Teeor stfifam,
ToT SYHTUN R AN &SIl |
IYYE A | ¥ H-AE G ?
(a) Haa I OEESIERSI
(c) e I (d) 1, I 3R 111
50. U TN Yaud o ded H frefafed sweml
o Hifer:
. T5% &9 9 WA (CH4) IR Teeq siirase
(N20) St Tered ¥ Icafsid gt € |
. $9-9 (In-sltu) TeieA § STE9Sl 1 STAM
AT SR - Sceaed ©g foRa
S
. -9 (Ex-sltu) FeiA ® oTaersi ol fieet
FH T TN WA TG Afedn & fad ST
feoman ST 21
IV. &1 SRR, Tk hosh-3Hd =id, 6%
T-Tig STIEEA Y WhAT I ool HIAT ¢ |
ST B 9 fore A w1 E 2
(a) FaA TH (b) FaA T
(c) had A (d) |+ft =R
51. TR H WIS GUat sefi gR1 Henferd ' sioer fagy
1 & 33T 1 A1 7
(a) fepeaH ¥ froa erdepardl gfact &= @l
wAfed L
(b) féT WeMrR &= H YLl Sohdl T Hhree
FHETI
(c) TR 9d # foasel agl & foes FrarE
FHEATI
(d) YRA-=IF "o R = St S sEe #i
UFA|

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

Which of the following is correct in relation to the
above statements?
(a) Both Statement-II and Statement-III are
correct and both explain Statement-1.
(b) Both Statement-II and Statement-III are
correct, but only one explains Statement-I.
(c) Only one of Statement-II and Statement-III
is correct and it explains Statement-1.
(d) Neither Statement-II nor Statement-III is
correct.

49. With reference to the Internet of Things (IoT),
consider the following statements:

I. It is an interconnected network of physical
devices equipped with sensors and
connectivity.

II. Insmartcities, itis used for traffic management
and energy conservation.

III. India’s Digital Personal Data Protection Act
does not apply to IoT devices.
Which of the above statement(s) is/are correct?
(b) Tand II only
(d) LI andIII

(a) Tonly
(c) III only

50. With reference to crop residue management,
consider the following statements:
I. Its burning emits greenhouse gases like
methane (CH4) and nitrous oxide (N20).
II. In-situ management uses residues for the
production of bioethanol and bio-CNG.
III. Ex-situ management uses residues for
mulching to retain soil moisture.
IV. Pusa Decomposer, a fungus-based solution,
accelerates in-situ decomposition of residues.
How many of the above statements are correct?
(b) Only two
(d) All four

(a) Only one
(c) Only three
51. What was the primary objective of the recently

conducted 'Operation Sindoor' by Indian security
forces?

(a) To target terrorist infrastructure based in
Pakistan.

(b) To combat piracy in the Indian Ocean region.
(c) To carry out operations against insurgent
groups in Northeast India.

(d) To prevent Chinese troop incursions along
the India-China border.

e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
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52.

AR i H Afeensti ot fien o Hev | fFefafaa

FeAl R =R Hifee:

[ YRAE F 1 iR g9 €9 § dgd I89
T 9 AR #

II. Hfgen fFam wempior 9REsH (MKSP)

52.

With reference to the role of women in Indian
agriculture, consider the following statements:

I. Feminization of Indian agriculture is
primarily driven by increasing male
migration.

II. The Mahila Kisan Sashaktikaran Pariyojana

T TR 1 BRIS o a9 STEH UM Sl (MKSP) provides grants for the purchase of
2l agricultural machinery.
I = 9ieRt % SeSe, Afeed 15% & off &9 III. Despite high participation, women own less
i yfr % wferw #) than 15% of agriculturall land: .
N o s e | ool on 70
aTren feem wfeen forami 1 emafed e 7 s '
S ) How many of the above statements are correct?
S9Y® H | foha e W@l © 7 (a) Only one
(a) e TH (b) Only two
(b) HaA (c) Only three
(c) hered i (d) All four
(d) = =R 53. With reference to the legacy of Charaka and
53. = SR YA 1 forrad & gedl | frAfafad wmemt Sushruta, consider the following statements:
R =R St I. The Charaka Samhita, a foundational text of
I =Rk Gfed, SR 1 T Hifer 59, e €9 Ayurveda, primarily focuses on surgery.
S e e II. Sushruta is often regarded as the “Father of
N " Surgery” and described detailed procedures.
II. gga & 9 "ved e &1 S /M . . .
. . X III. Both scholars emphasized disease prevention
’ and a holistic approach to health.
S &, 2 g ST s | d a holistic approach to health
I SR ferl 3 3 A e SR T Which of the above is/are correct?
A F Hew RS e (a) Tonly (b) I and III only
I Al B ¥ HH-A/8 TR ? (¢) Tand III only (d) 1,1 and III
(a) e | (b) et 11 &R 11T 54. With reference to India-Africa relations, consider

54.

(c) a1 AR I (d) I, 11 SR 111
ARA-SThich HaEl o ge # Fr=fafed g ™
fo=m wifs3:

the following pairs:
Initiative/Policy
I. Agenda 2063

Description

A strategic framework
for Africa’s socio-eco-

q%?{ﬁﬂﬁr Feverar nomic transformation.
I TSEI2063 : STRIH % WIS II. AfCFTA World’s largest free
FU@IT B Th  OHIS trade area, of which
il India is a member.
II. AfCFTA : fowa =1 999 &g1 g MR 1. AAGC A competing corridor
&, TSR YR 9e=a 2| to China’s Belt and
. AAGC  : &M ¥ 32 U 3 sfifmfea Road Initiative.
— e | IV. 1AFS Main biennial oﬁ“lc.lal
platform for India-
IV. IAFS IR STRIRT JIEer %ﬂ Rl Africa partnership.
A= How many of the above pairs are correctly
ST® g H @ fopaw Ot gafaa € 2 matched?
(a) HIA TH (a) Only one
OREESE (b) Only two
(c) Had A (c) Only three
(d) @ =R’ (d) Al four
641, wIW T, | 21, gET TS, 13/15, AT9ThE |, wie Fel-45 9 45-A W 47/CC, afetmes 12, B9 TSR, T,
usiplee ol Tost W, | we am, | fre of e, | w2, 39 dw ds, | omehe Wi, fagmrmer | s i
faeeti-110000 | 7 fooett | fofae omew, wovw [ agew i@, sEOT i, e %eR, mer waw
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55. 9Rd | HfY disaet & Hed # frfafad sael ™
o ifer:
[ Y&l Y TIa0l 9 ek fohe &1 o1 |
S At g & Tehell B 1
[I. sEgfad 3eRer wWfewsl & &R NPK
(FTEEISH, HIERRE, GefiEm) Tud &1 eet
ST T g ¥
1. ¥ HHR WA o TR, Fad 6% fwam &
2FqH THT Y& (MSP) 1 &Y 321 ¢ |
V. fova =mR ¥med (WTO) & i & &q,
IRA &1 =ed dfeqel fifa 10% @ 9
aifereh 71
ST H 9 fohe oM wEt €2
(a) HaA T
(b) had T
(c) a+ft =R
(d) i off &I
56. YMRA & A9 3EEl o dey H frefafad wue )
o ifer:
HUA-1: AT 3G w1 faemE, IR & hEnfitn
3R 1 BSTed A g STcdd Tewqui ¢ |
HAF-11: FE geH IR 1 37w, fa o drenfiest
FHH o HRU qLAH ITH el o I |
SYH el & Haw B, frefafad § 9 wi9-a1 9l
g2
(a) FHA-1 3R FoH-11 S T&l & a1 FeA-11,
FHo-1 i TET A FAT T |
(b) FUA-1 R FUA-11 I Tl €, Fovg FHeA-11,
FHYA-] I T A Tl FAT |
(c) FoF-1 T &, fohg For-11 W&l =F 7
(d) wUA-1 W& = B, Tohg Fem-11 W& €
57. 314 ¥R AMEE (UBA) & Hed § fr=fafed #
Y -1 FHoH T 2 2
(a) I uTHIor faehma 7 = foreror G & 9
1 SN HIA B |
(b) SMEeTES fooeht 38 wEFHA & fod U™
o= G % ®9 H 61 12 |
(c) TEF T&d YT LA hl FHH-H-HH <G Tiai
I ST e B
(d) e Taren HaTerd St Ush THE TS T8 ¢ |

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

55. With reference to agricultural subsidies in India,
consider the following statements:

I. Direct Benefit Transfer could significantly
increase every farmer’s annual income.

II. Imbalanced fertilizer subsidy has distorted
the ideal NPK (Nitrogen, Phosphorus,
Potassium) consumption ratio.

1. According to the Shanta Kumar Committee,
only 6% of farmers benefit from the Minimum
Support Price (MSP).

IV. Under WTO rules, India’s rice subsidy
exceeds the prescribed 10% limit.

How many of the above statements are correct?
(a) Only two
(b) Only three
(c) All four
(d) None
56. With reference to medium enterprises in India,
consider the following statements:

I. Statement-I: The growth of medium
enterprises is critical to strengthening India’s
industrial base.

II. Statement-II: Many micro and small
enterprises fail to become medium enterprises
due to lack of finance and technology.

Which of the following is correct regarding the
above statements?
(a) Both statements are correct, and Statement-I1
correctly explains Statement-1.

(b) Both statements are correct, but Statement-11
does not explain Statement-1.

(c) Statement-I is correct, but Statement-II is not
correct.
(d) Statement-I is not correct, but Statement-I1

is correct.

57. With reference to the Unnat Bharat Abhiyan
(UBA), which of the following statements is NOT
correct?

(a) Itutilizes the knowledge of higher educational
institutions for rural development.

(b) IIT Delhi serves as the national coordinating
institute for the programme.

(c) Each participating institution is required to
adopt at least ten villages.

(d) Itisamajor national initiative of the Ministry

of Education.
e HeT-45 F 45-A W 47/CC, afetmes 12, B9 TSR, T,
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58. YR o I QEhRI o dey | frefafad sweri
o ifer:
I Tszafd A 769 oA fead W RERR
ITSOT Y |
. 3 J0hR I 9R9 iR ofd-afaeH &
e ford S €1
III. 3TN =k wifdera § fean S aren geit
Rl TEFR 7 |
IV. TER =k ifdera ¥ Ueiid oiXd o fad
e foran ST 1
ST H 9 fohe em wet €2
(a) A T
(b) e q
(c) haa d=
(d) = IR
59. Torraes TR eRat & Hed # frfafad wmemt
R faar Fifsa:
I S%H I 1904 H T o HifdwRl TS,
AT YRA WEFE! Sl 91 1 |
. e H, 3= 8y Afa 9 9 g
fean gt 1 e fan
. 3% SINQX o9 Fie TS | S e
T T A TE oft|
S0 e HH-T/A TR ?
(a) Fae AR
(b) FaaA II
(c) Faer I AR III
(d) 1, II SR 1II
60. HTRIt (1215) o Hed H fmfafad el - faar
Hifea:
I 78 ¥oie & T S gR gl & qare o
gEefa fepam e oy
. 397 veel R I% fosia Tenfiq foren fo smae
off A & Sl 2
. 359 SAfeT@ @ o fone e &
MR T d & ot |
IV. 389 ¥oie H TudE dishda iR gty
ARSI ohl TATIHAT i |
ST FHUA | ¥ HH-H T ?
(a) a1 I
(b) Had 11 3T IV
(c) hae I, 11 3R 11
(d) I, 11, Il 3fR 1V

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

58. With reference to India’s gallantry awards, consider
the following statements:
I. The President announced these awards on
the 76th Republic Day.
II. These awards are given for exceptional
bravery and self-sacrifice.

III. Ashoka Chakra is the highest peacetime
gallantry award.

IV. Param Vir Chakra is awarded for gallantry
during peacetime.
How many of the above statements are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four

59. With reference to Vinayak Damodar Savarkar,
consider the following statements:

I. He founded the secret revolutionary group
Abhinav Bharat Society in 1904.
II. In London, he established the Free India
Society inspired by Giuseppe Mazzini.
II1. He was sentenced to life imprisonment in the
Alipore Bomb Case.

Which of the above statements(s) is/are correct?
(a) I'and II only
(b) II only
(c) Tand III only
(d) 1, I and I1I

60. With reference to the Magna Carta (1215), consider
the following statements:

I. Itwas signed by King John of England under

pressure from barons.

II. Ttestablished the principle that even the king
is subject to the law.

III. Itlaid the foundation for personal liberty and
the right to a fair trial.

IV. It established parliamentary democracy and
universal suffrage in England.
Which of the above statements are correct?
(a) Tand II only
(b) III and IV Only
(c) I, I and III only
(d) L IL I and IV
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61. dfed SaTetea He® & Hed H frfafed wemi =
IEEIREIEDE
I 9 TfRUE sficied (NAM) & T 999
AR I |
1. 3%M fasm g dfaga-fet &1 =gy
et 1 gueH foha
Il 'YRA i @Sl §&I% 379 HGTR fhel o
FHREH & I fot T8
IV. 3 Gfoue 9 & 7Eer afifd & o1ee 91
39 | | fopre shed TET R 2
(a) A T
(b) FHaA
(c) haa d=
(d) |+ =R
62. WA o Sl TR o HeY # Fefafed swerl ™
IEEIRETIEDE
. SR =k 3R TeTdR = 91 o guel’ i
ERGERCERERES GRS
1. ifd =k 1R 9 =k "o o wer’ & eifafcs
R & ferd fedr s €1
III. SRIa1 o 3 H, ARTER =k 1 TATH hifd =oh
Y SREAML
IV. 1 TR 1 S9on a9 H hael Tk IR 0
fea® & TR W 1 W 2
39 | H fopre hed W& R 2
(a) e TH
(b) FaA A
(c) <haa d=
(d) =+t =R
63. GSiTa e g T <l fomis St (SASCI) FrsT
% ded # ffafad wael W faur sifea:
HYA-1: I A Tl § YSITd =5 Rl STl o
¥ Th HEwIYU Tl €|
HYUA-11: T8 Tl ol 50-T6T SATS-Hb B ok &I
 faia dices UeH &Yt €1
SYH el & Haw H, Frefafed § 9 wi9-a1 v
g2
(a) HUA-1 3R FHeA-11 A TEF & a0 HeA-1I,
FoH-1 i TET S HIA T |
(b) FeA-1 3R HeA-11 SHI T €, fohg w11,
FHoH-1 i TEl A Tl FAT T |
(c) HU-1 T R, fohg Fom-11 W1 et 21
(d) HeH-1 T& Tl €, fohg Fem-11 Tt 2

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

61. Consider the following statements regarding Pandit
Jawaharlal Nehru:
I. He was a chief architect of the Non-Aligned
Movement (NAM).
II. He supported Soviet-style Five-Year Plans
for development.

II. The book ‘The Discovery of India’ was
written during his imprisonment in
Ahmednagar Fort.

IV. He was the Chairman of the Drafting
Committee of the Constituent Assembly.

How many of the above statements are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four

62. With reference to India’s gallantry awards, consider
the following statements:

I. Param Vir Chakra and Maha Vir Chakra are
awarded for bravery ‘in the face of the
enemy’.

II. Kirti Chakra and Shaurya Chakra are awarded
for acts of bravery other than in the face of
the enemy.

III. In order of precedence, Maha Vir Chakra
ranks above Kirti Chakra.

IV. These awards are announced only once a
year, on Republic Day.
How many of the above statements are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four

63. Consider the following statements regarding the
Scheme for Special Assistance to States for Capital
Investment (SASCI):

Statement-I: The scheme is a major initiative to
promote capital expenditure by states.

Statement-II: It provides financial incentives to
states as 50-year interest-free loans.
Which of the following is correct?
(a) Both statements are correct, and Statement-1II
explains Statement-1.
(b) Both statements are correct, but Statement-11
does not explain Statement-I.
(c) Statement-I is correct, but Statement-II is not
correct.

(d) Statement-I is not correct, but Statement-II

is correct.
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64. THia iR Tshard s & G # frAfafed gl =
fo=R Fifsa:

o/ Uge | faewor
L | fasdt  (MISHTI) |ofemr uff @ =
RIS JHRTU HI FEmEl
=Sl
IL | g eremem &R | Hde @eo § st
FAEHS (MAC) @ &g COP27 #
& foha 71 TasE |
ML | gewem faw @ w8 e
T WG 99 & |
IV. | e fowsitan | siel ) @€t § wh
it i & =e aren
A |
SYY® g H 9 fopae Oet gafaa € 2
(a) HadA TH (b) haA &
(c) Had dF (d) &+t =R

65. sl e & Heo # fr=fafeaa womi w foem wifsd:

I 98 TH T Higeias stide €, fowent
T TSI § g8 off |

. I8 §eT g&d &9 § o a1 afaq &= |
A

L. 39 79T a1 g&entier w22 (IS) & Wfd =nftra
FHE

IV. T G&A 323 s § 9 A ar]
FEATI

STYH FUE H 9 HIA-9 T T ?

(a) HaA1 ARV (b) e 11, 11 3T’ IV
() FaAL IR (d) L, II, I 3R IV
66. 1975 % TS AT & e | Frfafad swemt

R fo=m wifsa:

HUA-1: 443 T Tfufe, 1978 7 ST=% 352

o ZEANT o Torees GLan Su wEd TR |

HAF-11: TH SIS 1 HITON B S ST

I15g oh! WeTEA fosie’ § ufqeentud foa

ST el & Haw ¥, frefafed § 9 wi-1 v

22

(a) HUA-1 R FHUF-11 S TET © q FH-1I,
HF-1 T TE A HIA ¢ |

(b) FeF-1 R FHeA-11 THI Tl €, fohg Fem-11,
FHUF-1 T T&l AT T BT ¢ |

(c) HUA-1 T R, fohg FeM-11 T&T Tl |

(d) wUA-1 W& = B, fohg Fem-11 & 21

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

64. With reference to mangroves and cyclone
mitigation, consider the following pairs:

Concept/ Description
Initiative

I. | MISHTI Promotion of mangrove
Scheme plantations on saline

lands.

An alliance launched at
COP27 to accelerate
mangrove conservation.

II. | Mangrove
Alliance for
Climate (MAC)

III. | Sundarbans

World’s largest contigu-
ous mangrove forest.

IV. | Cyclone
Biparjoy

‘A slow-moving cyclone
in the Bay of Bengal.

How many of the above pairs are correctly
matched?

(a) Only one (b) Only two

(c) Only three (d) All four

65. With reference to Boko Haram, consider the
following statements:
L. Itis an Islamic sectarian movement founded
in Nigeria.
II. The group is mainly active in the Lake Chad
Basin region.
III. Ithasdeclared allegiance to the Islamic State
19).
I'V. Its main objective is to establish Sharia law
in Nigeria.
Which of the above statements are correct?
(a) Only I and IV (b) OnlyIl,IlTand IV
(c) Only I, IT and 111 (d) L1, I and IV

66. With reference to the National Emergency of 1975,
consider the following statements:

Statement-I: The 44th Amendment Act, 1978
introduced safeguards against misuse of Article
352.

Statement-II: It replaced the term ‘internal
disturbance’ with ‘armed rebellion’ for declaring
Emergency.
Which of the following is correct?
(a) Both statements are correct, and Statement-I1
explains Statement-1.
(b) Both statements are correct, but Statement-11
does not explain Statement-1.
(c) Statement-I is correct, but Statement-II is not
correct.

(d) Statement-I is not correct, but Statement-II

is correct.
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67.

68.

69.

70.

(Magazine Test)

T (NAVYA) Ted & gy § f=fafad st

R fo=amR wifed:

[ 98 Wed Td YRER hedvl Haed gR &
1 TS T Ao |

1. SHH &A @&d 10-19 I &t 3771 i ferenfial
T TR PRAT B |

. & Aifgs oH Toesdl, 9mv iR AEfas
e S8 e W Figa B

IV. 39 had Y4 &5 & faamedl o &€ @ faan
T @E

ITY® | F e e Te €2
(a) HIA TH (b) HEA T
(c) Had = (d) =+t =R

Tafeern o IRa ¥ foera & e # frefafad wemt

R fo=amR wifed:

I. 359 Gfaus demem = fafasd & YRd &1 &
- S A1

II. 3649 Gfaer deiem = fafewa =1 ara & 229
Ui T 1 TS fea |

II. 3T3=8% 371F o ded fafdenn =t fouraw o
AT 30 TG B |

STYH A H ¥ HI-9/8 T ?

(a) had I (b) FHaa 11 3R 111

(c) a1 AR 11 (d) I, II 3R 111

AT & QA &5 (NER) o Hew # f=fafed semi

R fo=m wifsa:

[ I &9 9Rd & TR = Aifd & TH H5d
wWI g

. TRl 9Rd & 50% & Aok Sefaga Scaed
&I TG 7 |

1. THeET FIRER 30 &9 &1 < % I9 9 9
Srear g |

ST H 9 fohad oM wet €2

(a) Ho Th (b) HaA &

(c) meft = (d) g ot &I

T o AT, 1961 o Wey § fHefarad s

R fa=m wifsa:

. Tae =IEed | s i e 5= 8 HIge
Y T R faaR w3 o sy fean #

1. o8 AffEm odae § Saa gom < s &
o & wge oy YeH I

1. e fAder erdmfad &= ot Afecnadi ) arfsres-
anfefer aredfarenarati ol Heferd o & |

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

67. With reference to the ‘NAVYA’ initiative, consider
the following statements:
I. It is a scheme launched by the Ministry of
Health & Family Welfare.
II. Its main objective is to improve the health of
adolescent girls aged 10—19 years.
III. It focuses on issues such as menstrual
hygiene, nutrition, and mental health.

IV. It is implemented only in urban schools.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) Only three (d) All four

68. With reference to Sikkim’s merger with India,
consider the following statements:

I. The 35th Constitutional Amendment made
Sikkim an ‘Associate State’ of India.

II. The 36th Constitutional Amendment made

Sikkim the 22nd full-fledged state of India.

III. Article 371F mandates a minimum of 30

members in the Sikkim Legislative Assembly.

Which of the above statement(s) is/are correct?
(a) Tonly (b) I and III only
(c) I'and III only (d) L I andIII

69. With reference to India’s North-Eastern Region
(NER), consider the following statements:
I. It is a central pillar of India’s ‘Act East’
policy.
II. It contains over 50% of India’s hydropower
potential.
III. The Siliguri Corridor connects this region
with the rest of India.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None
70. With reference to the Maternity Benefit Act, 1961,

consider the following statements:

I. The Supreme Court has directed the Centre
to consider maternity benefits for a third
child.

II. The Act currently provides benefits only for
the first two children.
III. The directive addresses the socio-economic

realities of women in the unorganised sector.
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IV. I8 Afufm srEfea & wfed it gfaeHl
R UF 9 Y AN AR |
ST B ¥ fora e w1 E 2
(a) oA T (b) A
(c) haa = (d) |+ft =R
71. vw1am foren ge1 & e # frfafad seml ® faar
i
. S=i fafes wrm iR G e & faes
TRISIE 1 Aged fha|
1. 37 oY o IRUTEEEY BIEFARTY hedhi]
FAffEm, 1908 9Ifd g3 |
[l 3=M 'foREEd e TH Uhvawars! o &
TATIAT T, ST SPeIfaamdi o1 fage s o |
IV. 3% o0 ARked & fod Tofa:  wer
sTieIer & rifagot Tkt w1 STIAm |
IYY® FHUA | T -9 T ?
(a) Fae AR (b) e 111 3R IV
() Faa L, I ARII  (d) I, I, 11T R IV
72. ATMORE FRE (AMR) o Hed # ffafad we
R fo=mR wifsd:
. Aftrgmmsfas 30 auf #§ wra # fosfaa Teet
LEENIRCIE RICE
II. 9RAH 70% Wamifess o1 STAR 9gEH, FHi
3R Sl Y H fohan S €1
1. fova w@med Eed (WHO) 3 AMR @i i
@ Sfyge Tarey sifedl § e fean g1
V. e @ed e fom u=t & derifes &
ST & g, =t T e
ST W | oo e Tel1 E 2
(a) HIA TH (b) FEA
(c) haa d= (d) |+ft =R
73. 9RA H v 91g o e # frefafad wmemi w faar
Hifer:
. TSS9l YeEE WIfsor (NDMA) Sl
G = T ST SIRT & &9 § (iehd il
7
[ TS fqdt' &t STaaron &1 & 3294 961 sid
% HAET TIATE I MHAH HTA R |
[l 3ed el wEehed IR fiedq o
(AMRUT) 5@ ferret gonferdi # g8R |

Fga g
T H D o o T 2
(a) FaA TH (b) FEA T
(c) Tt o= (d) hrg +ff &l
641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
uSiclceoll Tos T, | wwam, | feee afe s,
fawet-110000 | T oot | fafaer ogew, wamwst

(Magazine Test)

IV. The Act applies equally to all establishments,
including the unorganised sector.
How many of the above statements are correct?
(b) Only two
(d) All four

(a) Only one
(c) Only three

71. Consider the following statements regarding Birsa
Munda:
I. He led the Great Revolt against British rule
and the feudal system.
II. His struggle resulted in the passage of the
Chotanagpur Tenancy Act, 1908.
III. He founded a monotheistic faith called
‘Birsait’ opposing superstitions.
IV. He adopted the peaceful methods of the

‘Sardari’ movement for his revolt.

Which of the above statements are correct?
(a) I'and II only (b) I and IV Only
(c) I, I and III only (d) LI, I and IV
72. With reference to Antimicrobial Resistance
(AMR), consider the following statements:
I. Naphthithromycin is the first indigenously
developed antibiotic in India in 30 years.
II. In India, 70% of antibiotics are used in
livestock, agriculture, and aquaculture.

III. WHO has included AMR among the top ten
global health risks.

IV. The ‘Red Line Campaign’ warns against the
use of antibiotics without prescription.
How many statements given above are correct?
(b) Only two
(d) All four

(a) Only one
(c) Only three

73. With reference to urban floods in India, consider
the following statements:
I. NDMA recognises urban floods as a distinct
disaster category.

II. The ‘Sponge City’ concept aims to maximise
surface runoff of rainwater.

III. Atal Mission for Rejuvenation and Urban

Transformation (AMRUT) Mission focuses

on improving drainage systems.
How many statements given above are correct?

(a) Only one (b) Only two

(c) All three (d) None
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74. RA T Ygeht SH-gufed 9 & def § fyfafag | 74 With reference to India’s first gene-edited sheep,

Forf T AT F consider the following statements:
L T A 5 N 1 i Se-eRE st I. The sheep named ‘Ganga’ was produced
i a1 ﬁo‘éJIT‘TITIT 2 using hand-guided cloning technology.
I E s T SeET o aeE 3 3 T II. A special ‘Fit-1’ gene was included to

enhance meat production.

fa9e 'Flt-1' S enfaer fepam mam)
I, 98 URUe UEshiShig-3TId Selll< i

III. This is a lower-cost method compared to
conventional microscope-based cloning.

O A O 8 I et e &1 Which of the above statement 2
icn o € above statements are correct!’
S e A A A
(a) Tonly (b) TandII only
(a) I (b) e I SR 11 (c) 1 and 11T only (d) 1, and I1I

(c) Fae 11 R 111 (d) I, 11 R 11I
75. fF=afafEaa wu ) fo=ar witsa:

75. Consider the following statements:
I. The Supreme Court has granted permanent

L. gelte =rer 3 wfect st o1 o o commission to women officers in the Army.
Tl R e fopar 3 II. National Defence Academy (NDA) has now
II. T &l TheHT (NDA) 7 1 Afget Fe opened entry for female cadets.
%+ fod ot vow @i fean ®1 III. Women can now serve as sailors on Indian
1. HAfeemd 31e YR AT o SRl R e & Navy ships.
Y H off Y < TRt € IV. Women recruitment in the armed forces is
IV. T gl B Afgeneti &t odt hoa AR limited to officer ranks only.
ok e B WifE B How many of the above statements are correct?
ITYE | F e e Tel €2 (a) Only one (b) Only two
(a) oA TH (b) HaA T (c) Only three (d) All four
(c) e diF (d) &t =R 76. With reference to Indian Renewable Energy
76. WA 37eTd o1t faehtd TSiEt (IREDA) & deyf o Development Agency (IREDA), consider the
frefafed g w e Fifm: following pairs:
P — Topic Description
T [ —— e ot I. | IREDA status Navratna company
II. | Nature of Non-banking financial
IL | o st wepfa | TR-sifehm ot deem establishment institution
L | Sreer vomer fog TemeT III. | Nodal ministry Ministry of Finance
IV. | ppE X (2025) | ‘s IV. | DPE rating (2025) | ‘Excellent’
i, g T s e 3 How many of the above pairs are correctly
matched?
(a) ¥ TH (b) (a) Only one (b) Only two
'(c) Wl?ﬁq . (d) =it =m ) (c) Only three (d) All four
77 ;-lg_jﬁ # eifir Ferll W o 77. With reference to ‘Dark Patterns’, consider the
: following statements:
L 3y fouted qohefieh €, St STihT =een I. These are deceptive design techniques that
H R BT €| manipulate consumer behaviour.
II. 3% SUMRG! S0 eifafed, 2019 % q@d II. They are considered unfair trade practices
31'1'%!?[ IR SEeR THT T € | under the Consumer Protection Act, 2019.
[l 39 W iFI @ vg feen-Fdw Hifa smm III. NITI Aayog has issued guidelines to curb
BRI S fod T R them.
ITYH FHeE | U HIE-9/E TR ? Which of the above statements are correct?
(a) had I (b) FHae [ 3R 11 (a) OnlyI (b) OnlyTandII
(c) Faet 11 R 111 (d) I, 11 R 11I (c) Only II and 111 (d) 1, 1Iand III
641, wIW T, | 21, gET TS, 13/15, AT9ThE |, wie Fel-45 9 45-A W 47/CC, afefmes 12, B9 TSR, T,
fuciplceel  wEst TR, | we an, | feee ot s, | ewewer, ¥ Stw G, | omee wien, e | o st
faeett-110000 | 6 foweht | fafae omgw, waArw | g e, SEOT wr, T ¥R, e TR

(Magazine Test) o
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78. BTl ohi Hewaqul Ui Suatfsual & Hewl § frefafaa
'ﬂ""ﬁ R foar &It

fawar/suatsa | faemor

L 13nm  fou| 2w & Sefideset sehifaeen
fesmrer &g | 1 SIgm@n <

Il oot | fomerm & ww faftme
EIkCIEl Safaferrar st @l

UL | quf sHraferes | T gr eifae 1 T T
RSitsEall T 3YAfeY |

SUH T § § foran ) gAfaa €2

(a) HaA TH (b) FaA A

(c) meft = (d) ®EE ot T&T

79. STYraa St (SC) & Tt 9§ Haifud fe=fafed
FHeFl W faar Fifsa:
I 9 STggfed Sifd s1vged asH (PM-
AJAY) diF qefardl Frsr1si T Teh Tehighd ®4
7
. U sygfed wifd &R (NCSC) T
wifafuss ™ € S HoAUHRRT YR hT
FRAT AT 21
Il -39 fear 991 & ded s Sk
BRI SC/ST St 1 01 <1 Afamd T
S § W foRa e et €2
(a) HIA TH (b) HEA T
(c) =eft = (d) =g oft &I
80. 9RG H A GERI o Heo # FAfafed werl ™
foar =ifs™:
SHYF-1: TSI Sell Rl AT AT =23, Toa=
3R foae1 ATe ¥ Uk A S
HIA-11: SR o faudia, Tstifaes Teii o e
T R B fekiies et |
ST el & Hew W, Frefafaa § @ - g
272
(a) FUA-1 R FHUA-11 A & T qe FHeA-11,
-1 ! TR AT A & |
(b) HUA-1 R FHYA-11 <1 Tt €, Fovg w11,
HUF-1 T TE A TE BT ¢ |
(c) He-1 T &, fohg om-11 Tl =f 7
(d) wUA-1 W& = B, fohg Fem-11 9 21

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

78. With reference to recent major national
achievements, consider the following pairs:

Topic/ Description
Achievement
I. | 3nm Chip Boosting the domestic
Design Centre | semiconductor
ecosystem
II. | Cave fish Discovery of a unique
discovery biodiversity in
Meghalaya
III. | Complete Social achievement
functional attained by Goa
literacy

How many of the above pairs are correctly
matched?

(a) Only one (b) Only two

(c) All three (d) None

79. With reference to welfare of Scheduled Castes
(SCs), consider the following statements:

I. Pradhan Mantri Anusuchit Jaati Abhuyday
Yojana (PM-AJAY) integrates three former
schemes.

II. National Commission for Scheduled Castes
(NCSCQ) is a statutory body monitoring
welfare measures.

II. Under Stand-Up India, each bank branch
must provide a loan to an SC/ST entrepreneur.
How many of the above statements are correct?
(b) Only two
(d) None

(a) Only one
(c) All three

80. With reference to electoral reforms in India,
consider the following statements:

Statement-I: Unregulated electoral expenditure
by political parties is a challenge to free and fair
elections.

Statement-IT: Unlike candidates, there is no
official ceiling on electoral expenditure by political
parties.

Which of the following is correct?
(a) Both statements are correct, and Statement-11
explains Statement-I.

(b) Both statements are correct, but Statement-11
does not explain Statement-1.

(c) Statement-I is correct, but Statement-II is not
correct.

(d) Statement-I is not correct, but Statement-II

is correct.
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81. Siems AT TR focta sTorwd & wevf # frfafad
Tﬁmﬁwa&ﬁﬁ:

Iy, | faewur
lECap)

I. | PMLA, 2002

SAeTe Tt @ Rarfdn
THE % ®Y H AT
HET
g wewd & fod
FaEH  (KYC) WM
fautfia swem)
IL | fefSea <fean | wer Aift =R gfear =t
arfufrem AfHarE T 1 TG
SYY® g H 9 fopae Tet gafaa € 2
(a) HaA TH (b) FIA A
(c) meft = (d) ®EE ot T&T
82. WA % Hehdl ] 3CIG (GDP) % TR e HIfeA
% e # ffafea g w foer sifee:
T ferawor
L | geqifog on e | 2022-23
L

1L | foren wieied

II. | FIU-IND

2004—05 § 2011-
12

foreemy et

I memsr w6
31T
IV 12017-18 Term 1 | formgsienton 3iR GST
FHROT T e
ST i § ¥ fora et gAfaa €2
(a) HaA TH (b) FEA
(c) haa d= (d) |+l =R
83. 9Igd Fehardl Tl & Hed H U wt yfent w1
frefafed § 9 wF-91 T 9 famm @ 2
(a) AT Fd FI A F €, TG =ohardi
g 31 eifren T &1 < €1
(b) ¥ 3T WA Wl SR aredfas e &
e | T 3l Ud TG T hl HH FHh Teh
hfceh 3TeRieeh & ®9 H S i 2
(c) 3= €Y HIS Ul o qiRfEefaent 0 § qg
I § SR TS TEE W STHR HIE Tl
ERICR G ET
(d) g ol FT e ¥ T TR i SR
Tyfeg gl €, STelfeh <shard o Sifay sqefed
A E

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

81. With reference to online gaming and financial

crimes, consider the following pairs:

Concept/
Agency
I. | PMLA, 2002

Description

Designating online
gaming as a ‘reporting
entity’

Setting KYC standards
for gaming platforms

II. | FIU-IND

III. | Digital India
Act

Proposing a ‘gaming code
of conduct’

How many of the above pairs are correctly
matched?

(b) Only two
(d) None

(a) Only one
(c) All three

82. With reference to the revision of India’s GDP base

year, consider the following pairs:

Subject Description
I. | Proposed new base |2022-23
year
II. | Previous revision From 2004-05 to
2011-12
III. | Chairperson of Biswanath Goldar
Advisory Committee
IV. | Reason for mpact of
postponing 2017-18 | Demonetisation
and GST

How many of the above pairs are correctly

matched?
(a) Only one
(c) Only three

(b) Only two
(d) All four

83. Which one of the following correctly describes the
role of mangroves in increasing cyclonic threats?

(a) They accelerate coastal erosion, making
cyclones more devastating.

(b) They act as a natural barrier by reducing wave
energy and wind speed through their dense
roots and vegetation.

(¢) They are mainly found in freshwater
ecosystems and have no significant impact
on marine storms.

(d) Deforestation of mangroves increases
economic prosperity of coastal communities,

while cyclone risks remain unaffected.
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84. RBI &1 aftier XA 2024-25 & geof # fr=fafea
FeAl R g Fifee:
. e 9% 7 WHER *1 32.68 TG FAS H
Repre srfem g&aiafa fwani
II. RBI %! Scig 3 | 8.2% i anfier i gof
EARIE]
. Fd deig e # fooeh ufwufadl &1 fewm
74% 9 e o
IV 99 % SRE @l der § 50 Hifeswh 27 9§ s1fern
w gfa gl
ST H 9 fohed oM wet €2
(a) A T
OREESE
(c) <haa d=
(d) &+ IR
85. foxita et %1 ot (FATF) & e ¥ ffafaa
FHUAl T faar Fifea:

HeA-1: FATF &1 ¥ fee’ o wnfoet €9 F 291 &t
U foreita wrE guiferd gl 21

weA-11: U foree # enfirer <uii ot Afvaes formdta yomett

T U5 2 T g8 TR ST W1 AT Il €

ITYE FweHl o Hay ¥, fAfafad # 9 wiF-a1 F@l
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(a) HUA-1 3R FHeH-11 A TEF & qe HeA-1I,
FHUF-1 T T&l A HIA & |

(b) HeA-1 3R HeA-11 SHI T €, fohg w11,
FUF-1 T TE A T HAT T |

(c) HoF-1 T &, fohg om-11 W&l = 7

(d) wUA-1 W& & B, fohg Fem-11 W61 €

86. 519 G7 R e & ded # frfafaa et

R fa=m wifsa:

[ 9Rd, 9= 9 2d gU off, 399 argdl aR
STt foram T o

. G7 T% TP Giudmed ae U =i
FHR-TRHN TS B

[l 39 99 H 'SRy aEeehiRR el &l
SO T T

30 | H fopre heH W& R 2

(a) ol Th

(b) FHaA

(c) Had

(d) g+t =R

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

84. With reference to the RBI Annual Report 2024-25,
consider the following statements:

I. The Reserve Bank transferred a record
surplus of %2.68 lakh crore to the government.

II. RBI’s balance sheet recorded 8.2% annual
growth.

III. Foreign assets accounted for over 74% of the
total balance sheet.

IV. There was an increase of over 50 metric
tonnes in gold reserves during the year.

How many of the above statements are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four

85. With reference to the Financial Action Task Force
(FATF), consider the following statements:

Statement-I: Inclusion in the FATF ‘grey list’
affects a country’s international financial reputation.

Statement-II: Countries on the grey list face
increased monitoring for access to the global
financial system.

Which of the following is correct?

(a) Both statements are correct, and Statement-I1
explains Statement-1.

(b) Both statements are correct, but Statement-11
does not explain Statement-1.

(c) Statement-I is correct, but Statement-II is not
correct.

(d) Statement-I is not correct, but Statement-II
is correct.

86. With reference to the 51st G7 Summit, consider
the following statements:
I. India, though not a member, was invited for
the twelfth time.

II. G7isaformal intergovernmental organisation
with a permanent secretariat.

III. The ‘Kananaskis Wildfire Charter’ was
adopted at this summit.
How many of the above statements are correct?
(a) Only one
(b) Only two
(c) All three
(d) All four
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87. el & H ==l § W AqUEE TEl & Hed |

Trfatea gl ) fo=m Sifva:
LR G feawor
L | wamiferm |waer | 519 G7 oy
B R IC DISE]
T |
L | foea TR | WRd & e 9
fasfaa fean <
W T IR
ST |
UL | =1 Fereifan | wi gt €t | gera 7erarR #
fa < off |t widE &,
& S gt guRl &
I ST € |
Volsasde  |wm | S-ssee oo
% A TIEA
BRI Afera STHfERT
=1 a7eeT|
Iu § § femal dftal ot ghfer €2
(a) hocl T
OREESE
(c) Had
(d) T =R

88. 9NA % 9 f7afd o dey § fAfafead wel ™

o ifs:

[ 9Rd aftgs R W MY <9 Fiu fiqes §
e

1. Ffy fafa fifd, 2018 1 @& 60 3T TR Tl
frafa o

III. hIARER o HRU FEHAT =6d 9 JERl
STRR 3TEATFd Bl 2 |

1v. Sftas wf faf o aia # T=er’ 2.5% 4
aferek 71

S B 9 fohe oA w1 € 2

(a) A Th

(b) FAAT

(c) Had

(d) @t =R

89. fr=fafad werl W fa=ar wifsa:

HAT-1: g P Ewer &1 Sierarg uierd= & R

79X Tehe T |HAT L W12 |

Y- 11: WA Helle 5 Wen wifeerfen et

Y fued 8 T 519 /A T

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

87. With reference to recently discussed international
locations, consider the following pairs:

Location | Country | Description

Venue of the
51st G7
Summit

I. | Kananaskis | Canada

II. | Sittwe Myanmar | A strategic
port being
developed
with Indian

assistance

A French
territory in the
Pacific,
disturbed by
electoral
reforms

III. | New
Caledonia

French
Overseas
Territory

IV. | Al-Udeid | Qatar US military
base targeted
by Israel
during the
Iran-Israel

conflict

How many of the above pairs are correctly
matched?

(a) Only one
(b) Only two
(c) Only three
(d) All four

88. With reference to India’s agricultural exports,
consider the following statements:

I. Indiais among the world’s top ten agricultural
exporters.
II. The Agriculture Export Policy, 2018 targeted
$60 billion in exports.

III. Basmati rice and spices from India are often
rejected due to pesticides.

IV. India’s share in global agricultural exports is
above 2.5%.
How many of the above statements are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four

89. Consider the following statements:

Statement-I: The Hindu Kush Himalaya region
is facing a severe crisis due to climate change.

Statement-II: The Sagarmatha Dialogue is a
regional initiative to address these shared ecological

challenges.
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ST HeAl & Hay H, Frefated § 9 wH-w wd
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(a) HUA-1 3R FHeH-11 A TEF & q HeA-1I,
FHoH-1 i TET A T |

(b) HUA-1 R FYA-11 <1 Tt €, Fog w11,
FF-1 T TEl AT T HAT T |

(c) HUA-1 T %, fohg Fom-11 W1 et 21

(d) weE-1 W8T T &, fohg Fem-11 WRI 2|

90. YA ¥ vl faemg & gy ¥ Fmfafed seHl ™
fomm =wifsa:
. U SR ifa g, Ui et e

R HiEa g

II. T fadt favm, Senfer-=nfea Tmmem s
refendr <1 ® |

1. 3=l T fei (ULBs) &t foria T
T FE A B |

IV, ¥R gt § fsi & i ariiert adae 8
50% & a1ferem 1

ST H 9 foha oM e €2

(a) FaA TH (b) FaA T

(c) haa d= (d) |+ft =R

91. 'EAWIfE A & HeY H frAfafad werl w faar
HifS:
HeF-1: 'S VM AT MRA hi UM Tl
1 HeTeld Sl B |
HIA-11: TE AT T A FaTor Y serer Tt
e fefear &3 et §
IU el & Hew W, Frefafaa § @ - w
772
(a) FF-1 IR FoA-11 I WL 2 a0 HeA-11,
FHoH-1 i TET S HI T |
(b) FUA-1 R FUA-11 A1 W&t €, Fovg FHeA-11,
FUF-1 T TE A T FAT T |
(c) HU-1 T %, fohg Fom-11 W1 =t 21
(d) wUA-1 W& = B, fohg Fem-11 & €1
92. fr=fafad g | fo=m it

L1k srafeerfa,/faawor
L s efer | siadfem & fouq ww
TATER
I | qewem | sodt siften o1 waite feorer
UL | orse <At | forve o1 e wo S veid
V. | urde et | forear o1 g S S weld
641, W @A, | 21, g A, | 13/15, rereRg W,
faee-110000 | T fawet | fafae wew, wEmwS

(Magazine Test)

T Ha-45 T 45-A TS

Which of the following is correct?

(a) Both statements are correct, and Statement-I1
explains Statement-1.

(b) Both statements are correct, but Statement-II
does not explain Statement-1.

(c) Statement-I is correct, but Statement-II is not
correct.

(d) Statement-I is not correct, but Statement-I1
is correct.

90. With reference to urban development in India,
consider the following statements:

I. The National Urban Policy Framework
focuses on integrated spatial planning.

II. The Smart Cities Mission prioritizes
technology-driven solutions.

III. Financial autonomy of Urban Local Bodies
(ULBs) is a major challenge.

IV. Private sector participation in urban
infrastructure is currently above 50%.
How many of the above statements are correct?
(a) Only one (b) Only two
(c) Only three (d) All four

91. With reference to the 'Drone Shakti' scheme,
consider the following statements:

Statement-I: The 'Drone Shakti' scheme
strengthens India's strategic autonomy.

Statement-II: This scheme reduces import
dependence by promoting indigenous drone
manufacturing.

Which of the following is correct?
(a) Both statements are correct, and Statement-1II
is the correct explanation of Statement-1.
(b) Both statements are correct, but Statement-11
is not the correct explanation of Statement-I.
(c) Statement-I is correct, but Statement-II is not
correct.

(d) Statement-I is not correct, but Statement-II
is correct.

92. Consider the following pairs:

Location Position/Description
I. | Borch Glacier | A glacier located in
Antarctica
II. | Mount Etna Highest peak in North
America

II. | Mount Denali | Third highest mountain

in the world

IV. | Mount
Kanchenjunga

Second highest mountain
in the world

47/CC, afetTET
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ITY® H ¥ fhan g0 Ot gafaa € 2
(a) e TH
OREESE
(c) haa d=
(d) g+t =R
93. AfYek JEmd Y (GHI) % Hed # frfafaa
T Y HH-H U &l T8l € ?
(a) T 'HEH docarEs 9 TeYRieeh g TIH
w9 IR R S e
(b) 3EH TR Tehdsh- SICUUEU], =EeE IR,
qMEee T 9 o G R |
(c) wRA ¥ wferan b # sro wft wSrE <ot 9
TR TSI foRa B |
(d) THH WHR 100-feig Jum W g €, Sl g
YIS THR T @1 T |
94. sMfueRTites Traetaan eifafam, 1923 & wHed #
ffafed ol W fouR Sifva:
I 7 siufafdes uRda Tiorear  stfufem,
1889 ¥ 3T IR |
1. Tg |efl e et T 39 1R foger § @y
B
. ¥% TR-9RT Arient R fore ot fearfa & @y
Tl B
V. sl e &t ¥ 3 S o fod <€ &1 gaem
FHIA B
IYYH FHUA | ¥ Y T ?
(a) a1 3R
(b) FHaa 111 3R IV
(c) FaAL, II AR IV
(d) I, 11, I 3fR IV
95. YA & faceh AR (OCI) I & ded |
ffafed ol | fouR Sifsa:
[. g ISl 2005 H AFTeRar sfafem, 1955 |
HYIEE 51 YE g5
. 78 9RdE qa & faceft Jmiehi & el
TR Y& I S
I, MR IR Sees & AR 9 A &
EEERIER RS
IV. et (PIO) 3R Stetg (OCI) Sfvri o
foera 3 2015 H foram a1 ol
ST | | foha" e Te1 € ?
(a) o T
(b) FHaA
(c) wHaa =
(d) g+t =R

641, wIW T, | 21, gET TS, 13/15, AT9ThE |,
fawtt-110000 | T fowet | fafaw wmg=w, wammwrs

(Magazine Test)

How many of the above pairs are correctly
matched?

(a) Only one

(b) Only two

(c) Only three

(d) All four

93. With reference to the Global Hunger Index (GHI),
which of the following statements is NOT correct?

(a) Itisjointly released by ‘Concern Worldwide’
and ‘Welthungerhilfe’.

(b) Its four indicators are: undernourishment,
child wasting, child stunting, and child
mortality.

(c) India has performed better than all its
neighboring countries in the latest ranking.

(d) The score is on a 100-point scale, where zero
is considered the best score.

94. With reference to the Official Secrets Act, 1923,
consider the following statements:
L. Itoriginates from the colonial Indian Official
Secrets Act, 1889.
II. Tt applies to all Indian citizens in India and
abroad.

1. Itdoes not apply to non-Indian citizens under
any circumstances.

IV. Section 3 of the Act provides for punishment
for espionage.

Which of the above statements are correct?
(a) Only I and II
(b) Only III and IV
(¢) Only L, IT and IV
(d) L 11, III and IV
95. With reference to the Overseas Citizen of India
(OCI) scheme, consider the following statements:
I. The scheme was started in 2005 by amending
the Citizenship Act, 1955.
II. It grants dual citizenship to foreign citizens
of Indian origin.
III. Citizens of Pakistan and Bangladesh are not
eligible for this scheme.
IV. The PIO (Person of Indian Origin) and OCI
categories were merged in 2015.
How many of the above statements are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four
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96. WA & faArH & & Hey # ffafed wedi =
o ifer:
[. 9Rd 2047 I fova &1 9a9 aS1 Ta A0
ST &9 Q|
. 9= o g eT€el &l §e oy 2014 9
T Stk €1 E R
Il o8 &= vdeq afed 7.7 fafeem Arwfeli =
LT HLA R |
V. foAma &5 &1 wehat =Re] 3 | Are 5%
q afeeh T
ST H 9 fohe em wet €2
(a) A T
(b) e q
(c) haa d=
(d) = IR
97. dfferrg # @S 7Y 800 & g i Hiex & wey
T fr=fafed oMl W fo=R Sifva:
I ¥% HfeX wad uied I H T
1. ferermerl & fora =1 gafia €9 #1 3@t gfe
Bt 71
I, SEeR! FHio1 AREHA 43X aied o Y o
g ol
IV. T SARE & 64 HG H a=- HT Seoid ¢ |
ST H & fra em e €2
(a) oA TH
(b) FHaA A
(c) had A
(d) &ff TR
98. FUIA & ‘faear Aifed’ & He # Frfafed wemt
R fo=amR wifsd:
I. 39 S T 93 HRTEHT o QI SAIEFRING
A T ST T |
1. SHH T&A 32T T Hufaai ol qal ol o
I Tod TN T |
III. € Aifcd had T dlf-g71 § S "al o ford
SR T smam
V. I8 ATaufyes Sufaai ot aget § §ae <9 &l
T T |
ST | | oo e Te1 € ?
(a) oA T
OREESE
(c) <haa d=
(d) & IR
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(Magazine Test)

96. With reference to the aviation sector in India,
consider the following statements:
I. India will become the world's largest air
passenger market by 2047.
II. The number of operational airports has more
than doubled since 2014.
II. This sector supports 7.7 million jobs
including those in tourism.
IV. The aviation sector’s contribution to GDP is
more than 5%.

How many of the above statements are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four

97. With reference to the 800-year-old Shiva temple
discovered in Tamil Nadu, consider the following
statements:

I. The temple belongs to the Later Pandya
period.
II. Inscriptions confirm that it was dedicated to
Shiva.
III. It was constructed during the reign of
Maravarman Sundara Pandya.

IV. There is a mention of selling a water reservoir
for 64 kasu.

How many of the above statements are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four

98. With reference to Interpol's ‘Silver Notice’,
consider the following statements:
I. It was officially adopted during Interpol’s
93rd General Assembly.
II. Its main objective is to trace and confiscate
illegal assets.
III. This notice will be issued only for money
laundering cases.
I'V. It will assist member countries in the recovery
of criminal assets.

How many of the above statements are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four
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99. WETETR W&Vl 9§ Gafed gl & dey § f=fafad
HIA W o= wifsa:
I 90 U996 T WEEPR e hE SR

Il iRl g WB- 3T foRan S|

II. §aq fas® @&d-14 (SDG-14) foave €9 9
ST Sfe o TReT0T 9 Geiferd 7 |

[l 3= 9st 9 1 3279 TR STUER &3
ofieR TSt Siafafaerar 1 TRafo ¢ |

IV. TS =0M-95 &1 Hed deR FeTErR T e
ey

SW6 | H foheH oM TEIE 2

(a) oA TH

(b) FaA A

(c) wHaa =

(d) =+t =R

100.

TRHTY] &3fd B AR <ifered eiffem, 2010 3 ged

T frfafed Fel W fomm Fifsa:

. 98 ifufag dere W HeR Ud -
T AT a1 |

1. ¥ sTqfaedisii ol +ff S o SRR H W

T H SARIHR 7 |

T qed Th T &Ifd e AT Tenfaa

A T I B |

9Rd 7 ft qe6 ek arfayfd sIfEHa (CSC)

&I gfte T T 7

ST H 9 fohe oM wet €2

(a) oA T

OREESE

(c) haa d=

(d) g+t =R

III.

Iv.
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(Magazine Test)

99. With reference to ocean conservation initiatives,
consider the following statements:
I. The third United Nations Ocean Conference
will be co-hosted by France and Costa Rica.
II. Sustainable Development Goal-14 (SDG-14)
specifically relates to the conservation of
aquatic life.

III. The High Seas Treaty aims to conserve
marine biodiversity within national
jurisdictions.

IV. The Nice Declaration is related to the third
Ocean Conference.

How many of the above statements are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four

100. With reference to the Civil Liability for Nuclear
Damage Act, 2010, consider the following
statements:

I. The Act imposes strict and no-fault liability
on the operator.
II. Tt empowers the operator to include suppliers
within the scope of liability.
III. Ttprovides for the establishment of a “Nuclear
Damage Claims Commission’.
IV. India has not yet ratified the Convention on

Supplementary Compensation (CSC).
How many of the above statements are correct?
(a) Only one
(b) Only two
(c) Only three
(d) All four
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